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Question Number : 1 Question Id : 7532296272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G, H, I, J, K and L are sitting in a straight line, all facing the north. J is to the immediate right of I. K is at one of the ends. G is second to the left
of I. H is second to the right of L, who is to the immediate left of G. If L is also sitting at one of the ends, then who is sitting third to the right of
H?

Options :
1. #= 1
2.%]
3.K
4. % G

Question Number : 1 Question Id : 7532296272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G, H, 1,7, K 3R L U& el tifed T STR &t SIR G@ IRb 9 81 I, 1 F T8 SR 31 A H g | K el T RR IR B G, 1 F 918 3R gale
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Options :

1. %1

2.%]

3.K

4. % G

Question Number : 2 Question Id : 7532296273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three boys A, B and C and three girls P, Q and R are sitting in a straight line facing the north. A boy sits at the right end and a girl sits at the left
end. Only P is between C and R. B is third to the right of C, who is to the immediate right of a boy. Where is Q sitting?

Options :

1. % Immediate left of C
2. ¥ Immediate left of A
3. ¥ Immediate right of C
4. # Immediate right of A

Question Number : 2 Question Id : 7532296273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

dH TSF A, B 3R ¢, TUT T ASfHa1 P, Q 3R R, TH Wtel Ufad H SR o1 3R W& b 98 & | TP ASHI ol RR W 318 iR T
Wg@%méﬁ% FHIdA P, CSﬁTR$aﬂaﬁé?ﬂ%| B, c%aéeh??ﬁﬂiwwéa% S Th TSP & a8 3R 31 T | 90T ¢
Q &gl ?

Options :

1. % C P a3 3R b T A
2. ¥ AP TR 3R P ITT H
3. % C % alg 3R 3Ih A A




4. % A®H TR AR IS T H

Question Number : 3 Question Id : 7532296274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five students, Ravi, Jil, Sara, Jay and Kia, are attending a class and are sitting in the front row. Kia is sitting adjacent to Sara. Jil is to the
immediate left of Jay. Three persons sit between Sara and Ravi. If Kia is second from the left end, who sits at the second place from the right
end?

Options :
1. % Sara
2. % Ravi
3. ¥ Jay
4. % Jil

Question Number : 3 Question Id : 7532296274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i faemeif - fa, o, IRT, 519 iR fasar, U el & SR 1 Ui ® 9 81 fovar, IRT & a77at & 931 3 1 fora, o & 918 3R b ared o
3T 3| IRT 3R M F ot 7 i faenif 93 €1 afe foran, s RR I TR M W &, @ 3 RR W R ”IM R SH 961 82

Options :

1. % 4RI

2. % g

3.9 G

4. % T

Question Number : 4 Question Id : 7532296275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ten persons, A, B, C, D, E, F, G, H, I and J, are sitting in a straight line facing the north. Person named as I is sitting at one of the ends. Four
persons sit to the right of D. Only A is between F and H. Only G is between B and C. E is towards the right side of D. G is third to the left of D.
B is between I and G. Two persons sit between D and H. Who is second to the right of G?

Options :
1. % A



2. % F
3. D
4.9 ]

Question Number : 4 Question Id : 7532296275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g9 &fad, A, B, C, D, E, F, G, H, I 3R ] U e} tfed & SR &} 3R G@ b 96 8 | 1 AHS Hfad [l U RIX TR 961§ | IR Hfad D
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Options :

L% A

2. % F

3. %D

4.9 ]

Question Number : 5 Question Id : 7532296276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six candidates, A, B, C, D, E and F, are called for an interview on one of the six days of the week except Sunday. On each day, one candidate is
interviewed. E is called on Wednesday. F is called the next day of C. D is called just after A. C is neither called on Monday nor on Thursday.
Who is called on Thursday?

Options :
1. % A
2.¥ B
3. D
4. % F

Question Number : 5 Question Id : 7532296276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

38 SHIEAR, A, B, C, D, E 3R F &1 IJAR &I BISH TWE & 38 ol & J [t v o AremeapR & forg gaman siran g1 ufafeq, e
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Options :
1. % A
2.¥B
3.%D
4. % F

Question Number : 6 Question Id : 7532296277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some persons are sitting in a straight line. Three persons sit between B and G. B is seventh from the left end. Eight persons sit between A and P.
P is fourth from the right end. The number of persons sitting between A and D is equal to the number of persons sitting between A and B. D is at
the left end. B is towards the left side of G. Only Y sits between P and G. How many persons are sitting in the line?

Options :
1. % 14
2. % 15
3.¥ 16
4. % 17

Question Number : 6 Question Id : 7532296277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FO A [ NN UFd T IS5 § I BARGHF S d A 96 8 | B I R Y AT "M TR I35 1 A R P & o9 36 A IS & | P
IURR A MY ™R I3 81 A 3R D & g 9 AfGddl Bt WS, A 3R B F g 96 AfGad! &l TN & RIS & | D I RR R 3T 8|
B,G % I3 R IBTRI P 3R G & AL hadl Y Sa1 5| Ufdd H fora sufdd 96 82

Options :

1. % 14

2. % 15

3.4 16

4. % 17




Question Number : 7 Question Id : 7532296278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Five persons, P, Q, R, S and T, live on five separate floors of a building. The floor starting from the ground floor are numbered 1, 2, 3, 4 and 5.
Two persons are doctors, two are engineers and one is a teacher. No two engineers live on adjacent floors. Similarly, no two doctors live on
adjacent floors. P is an engineer. S is not a doctor. T is not an engineer. S lives on floor 3. One engineer lives on floor 4. R is a doctor on floor 1.
Q lives on the floor that is above the floor where the teacher lives. Which of the following combinations of person-floor-profession is correct?

Options :

1. * T : Floor 5 : Teacher
2. * Q: Floor 4 : Doctor
3. % P : Floor 2 : Engineer
4. * S : Floor 3 : Doctor

Question Number : 7 Question Id : 7532296278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ui Afad, P, Q, R, S 3R T, Ueh SHRA &1 U SIaT-31aT HivTdl IR I8d 81 Ydd I = HRd g HRTA &1 1, 2, 3, 4 3R 5 HHifdd fobar
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Options :

1. % 769 5 : e

2. % Q:HIVIA 4 : TR

3. JP:W%W

4. % . O 3 : laex

Question Number : 8 Question Id : 7532296279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a class of 38 students, all students play at least one of two games — Soccer and Polo. 20 students play only Soccer. 18 students play Polo,
whereas 31 students play Soccer. How many students play only Polo?

Options :



1.¥7
2.% 11
3. % 18
4.%9

Question Number : 8 Question Id : 7532296279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

38 faenffal &t ues wen &, uft faemeif, <) @l - ITe? SR Uiell, § O 7 ¥ 51 U W Wald & | 20 faenff Faat Iier @ad g1 18 faemdf
Uil @ad 8, St 31 faendf gies @ad g1 fovdm faendf Saa vl @ad g2

Options :

1.¥7

2. % 11

3. % 18

4. %9

Question Number : 9 Question Id : 7532296280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at
variance with commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:

Some candles are sour.
All sweets are tangy.
No tangy is sour.

Conclusions:

I. No tangy is candle

II. Some sweets are sour.

III. Some sweets are candles.

Options :
1. #* Only conclusion II follows

2. % Only conclusion III follows



3. #* Both conclusions I and II follow

4. ¥ None of the three conclusions follow

Question Number : 9 Question Id : 7532296280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 7T HY 3R FISHH! &1 AFYdd U | B B ¢ 718 SIMBRI &l I A gY faaR &%, Hal 81 a8 IH=ua: I1d 9t ¥ fid uda
glct 81, 3R 79 B b feu U fAep ol & ¥ o1 T Yl &1 dIfbd U J UTa Hd 82
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Options :

1. ® PHad sy 11 U R |

2. % PHad sy 111 T SR 5 |

3. % fspd [ 3R 11 S & Ut R g
4. ¢ TR A A oI ot e ure T8l FRAT B

Question Number : 10 Question Id : 7532296281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Among six marble slabs labeled A, B, C, D, E and F, the weight of A and B taken together is equal to the weight of F. C’s weight is one-fourth
the weight of D. B’s weight is five times the weight of A. E’s weight is 5 kg less than the weight of D. B’s weight is half the weight of E. If the
weight of C is 7.5 kg, then which marble slab is the heaviest and what is its weight?

Options :
1. % B, 40 kg
2. % D,40 kg



3. % F,30kg
4.¥ D, 30 kg

Question Number : 10 Question Id : 7532296281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B, C, D, E 3R F 39 dTcit B8 YRR W & T, A 3R B P Tol b1 N, F b Ioi- & SRR § | C BT I, D P dol P Th IS b
IR EIBHI IO, AF GO & T 1 P SRR & | E BTG, D H a4 5 kg FH G| B BT G0, E & ao- & 1Y & SRR g1 TS C
BT IO 7.5 ke 8, I GTARHR BT B I W a8 HR § 3R BT o i&ocﬁl%‘?

Options :

1. % B, 40 kg

2. % D, 40 kg

3. % F,30 kg

4. % D, 30kg

Question Number : 11 Question Id : 7532296282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I[fP>K=N>D>W <U>Q=E, then which of the following conclusions is NOT correct?
Options :

l.* N>W

2.¥ W>K

3. * E<U

4. % P>D

Question Number : 11 Question Id : 7532296282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IREP>K=N>D>W<U>Q=E®g,d Fafelad & I o= a1 fserd ug) 78t 82
Options :

. # N>W

2.¥ W>K



3. E<U
4, % P>D

Question Number : 12 Question Id : 7532296283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct option that indicates the arrangement of the given words in the order in which they appear in an English dictionary.

1. Plaster
2. Plough
3. Plead
4. Player
5. Plinth

Options :

1. % 1,4,3,2,5
2.9 1,4,3,5,2
3.%4,1,3,5,2
4, % 3,4,1,5,2

Question Number : 12 Question Id : 7532296283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I T facheu &1 T HIE, ST fou 70 Wec) & 39 A &1 <2iaT 7, o 7 & I 31l Weqap = # Hive gid B

1. Plaster
2. Plough
3. Plead
4. Player
5. Plinth

Options :

1. % 1,4,3,2,5
2.9 1,4,3,5,2
3.% 4,1,3,5,2
4, % 3,4,1,5,2




Question Number : 13 Question Id : 7532296284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following arrangement consisting of symbols and numbers carefully and answer the question that follows.

45*7&3@89"583@<9+589+<326%347765%25489
How many symbols are immediately preceded by an even number and immediately followed by an odd number?

Options :
1. %5
2. %2
3.3
4. % 4

Question Number : 13 Question Id : 7532296284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tciiep! 3R Sl T gard FEfiRad e &1 eaHydd 3ea &3 3R 1 fau T Uy &1 3w S|

45*7&3@89"583@<9+589+<326%347765%25489
forae Tiap! & 31 U5l U 0H T 3R 31 916 U [awH ST 57
Options :

1. %5

2. % 2

3.3

4. % 4

Question Number : 14 Question Id : 7532296285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a code language, FINISHER is written as GHOHTIDS, and SORROW is written as TNSSNX. How will CLARITY be written in the same
language?
Options :



1. ¥ DMBSHSZ
2. % BKZSHUZ
3. ¥ DMZSHUZ
4. ¥ DMZQHUX

Question Number : 14 Question Id : 7532296285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP FHe HINT H FINISHER &1 GHOHTIDS 31K SORROW I TNSSNX feral ST § | St e UTNT H CLARITY &1 i YR ferat simaem?
Options :

1. ¥ DMBSHSZ

2. % BKZSHUZ

3. ¥ DMZSHUZ

4. % DMZQHUX

Question Number : 15 Question Id : 7532296286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a code language, TANDEM is written as 211818, and FOREST is written as 212339. How will DELUGE be written in the same language?
Options :

1. * 83314

2. % 93712

3. ¥ 93312

4. % 73012

Question Number : 15 Question Id : 7532296286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP FH TN H TANDEM &I 211818 3R FOREST BT 212339 forar STl 81 3 e YT H DELUGE &1 fhd TR ferar smam
Options :

1. % 83314

2. % 93712



3. % 93312
4. % 73012

Question Number : 16 Question Id : 7532296287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bus goes towards the north, then turns 90° left and runs straight for a few kilometers. After that, the bus turns 180° anticlockwise and runs
straight for a few kilometers. It again turns 90° clockwise and runs a few more kilometers straight. In which direction is the bus heading now?

Options :

1. % East

2. % West

3. % South

4. # South-east

Question Number : 16 Question Id : 7532296287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP 9 IR BT 3R gt 7, fhR 90° a8 Gt § 3R $© fhaiex Iteht gard) 81 I d18, T4 180° AMHIGd IS § 3R $S [halHex
et Trardt 2 1 R T8 90° SfErumad gocit € 3IR B0 3R fheitier dieh Iadt 1 ore o fvar faxm &t oik =i 381 &2

Options :

1. % g4

2. % i3y

3. ¢ Gfaru

4. % cléurgd

Question Number : 17 Question Id : 7532296288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which direction will the minute hand of a clock point at 3:15 a.m. if the minute hand of the same clock points towards the south at 6:30 p.m.?
Options :

1. ¥ East

2. % North-west



3. # South-east

4. % West

Question Number : 17 Question Id : 7532296288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%@H@ﬁﬁ%ﬁﬁémoa@rmaﬁmﬁaﬁ?mm%a‘rwﬂasﬁﬁﬁqﬁﬁﬁéms ol qaig ford fG=M T 3R SR
?

Options :

.Y 7qd

2. % FWR-UEH
3. % gféoryd
4. % i3y

Question Number : 18 Question Id : 7532296289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pritha exits from the backdoor of her south-facing home and walks 35 m straight, and then turns left and walks 40 m. After that, she turns right
and walks 45 m. Then, she turns right and walks 15 m. From that point, a bank is straight 25 m towards the east. How far and in which direction
is the bank with reference to Pritha’s home?

Options :

1. ¥ North, 80 m
2. % North, 90 m
3. % South, 80 m
4. #* South, 90 m

Question Number : 18 Question Id : 7532296289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TYT 310 gfe R P IS Rar I A 8 3R T 35 m I g, 3R R 918 SR 40 m I ¢ | 3T 91, 98 S¢ gl §
3R 45 m T 5| R, T8 TN S & 3R 15 m I 51 I g F, gd Bt SR WY 25 m P G W T o YT g1 dF, QU HF R I
forat X 3R fpa femm & 82




Options :

1. ¥ 3R, 80 m
2. % 3R, 90 m
3. % G401, 80 m
4. % E&0T, 90 m

Question Number : 19 Question Id : 7532296290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pointing to the photograph of a woman, Kritika said, “She is my brother’s son’s wife’s daughter.” How is that woman’s father related to Kritika’s
father?

Options :

1. # Son

2. ¥ Grandson
3. # Brother
4. % Nephew

Question Number : 19 Question Id : 7532296290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

@I%%wﬁuﬁaﬁaﬁiéﬁﬁma@qoﬁwﬁmsl, g8 TR UTS & 3 &1 Uet Bt T g 1" I Afel & frar &1 piaest & far d
qdY g?

Options :

1. * T

2. ¢ TIAI/ATd

3. % g

4. % YfISfl/HIST

Question Number : 20 Question Id : 7532296291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Marina is the daughter of Vansh. Urmila is the sister of Vansh. Damini is the mother of Prateek. Prateek is the brother of Marina. How is Damini



related to Vansh?
Options :

1. % Mother

2. % Daughter
3. % Sister

4. ¥ Wife

Question Number : 20 Question Id : 7532296291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR, g2 B G R | Iffa, 9w Bt 78 § 1 I, i o A B 1 Ucite, I BT i 1 1R b7 3w § T ey 82

Options :

1. % |
2. % gt
3. % dg-
4.« Uat

General Ability2
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Group Id : 753229326
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Group Minimum Duration : 0
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Edit Attended Group? : No
Break time : 0
Group Marks : 20
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General Ability2



Section Id : 753229326

Section Number : 1

Section type : Online
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532296292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code,

‘A # B’ means ‘A is the sister of B’,

‘A & B’ means ‘A is the mother of B,

‘A % B’ means ‘A is the brother of B’, and

‘A + B’ means ‘A is the son of B’.

IfC#K & R#T % G + H + P, then which of the following statements is correct?

Options :

1. * C is the paternal aunt of T.
2. * P is the father of R.

3. % G is the son of K.

4. % P is the mother of K.

Question Number : 21 Question Id : 7532296292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T FYd Heymn o,

'A#B BT HIE-'A, BT
'A&BHIHIR-'A, BHIHIT,

'A% B BT -'A, BB HTS g 3R



A+B BTG -'A, BRITAT

IECH#K&R#T %G+ H+P g, dl Fufeiad # ¥ &9 1 HY= T8 82
Options :

1. % C, TP I/AR/g3n gl

2. % p R BRI

3. ¥ G, KPR

4. % pKDIARI

Question Number : 22 Question Id : 7532296293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If in a certain code,

‘A <B’ means ‘A is the father of B’,

‘A $ B’ means ‘A is the husband of B’, and

‘A (@ B’ means ‘A is the mother of B’,

then which of the following expressions means ‘P is the paternal grandfather of Y’?

Options :

. * P@ZSN<Y
2.8 Y<ZSN@P
3.9 P<Z$SY@N
4. ¥V P<ZSN@Y

Question Number : 22 Question Id : 7532296293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Fiyd Heymn d,

'A<B BTG -'A, BHIUATE,

ASB HTAIT-'A, BHTURT, 3R

'A@B HTIG-'A, BHIHE,

O Fufafed 3§ frg oe #1 ei 8 - 'p, Y FTaa1 87
Options :

I.* P@ZSN<Y

2.%Y<ZSN@P



3.8 P<ZSY@N
4.¥YP<ZSN@Y

Question Number : 23 Question Id : 7532296294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘Scanty’ is related to ‘Abundant’ in the same way as ‘Dubious’ is related to ©
Options :

1. ¥ Certain

2. # Suspicious

3. % Extravagant

4. ® Hesitant

Question Number : 23 Question Id : 7532296294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"3l (Scanty)' DT 'UTR (Abundant)' EEHEER] %, SRR (Dubious)' T’ T3
Options :

1. ¢ fAfga (Certain)

2. % W(Suspicious)

3. % ffqogdt (Extravagant)

4, ® 1v'iﬁ?jllf(Hesitant)

Question Number : 24 Question Id : 7532296295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘NICKEL’ is related to ‘EKPNGM?’ in the same way as ‘DERMAT” is related to "
Options :

1. % TFGVDO

2. ¥ TGFVCO

3. % UGFVCP



4. % TGECVO

Question Number : 24 Question Id : 7532296295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

'NICKEL' T 'EKPNGM' ¥ 98! ¥/ §, Sl 'DERMAT' &T' "I gl
Options :

1. # TFGVDO

2. ¥ TGFVCO

3. % UGFVCP

4. % TGECVO

Question Number : 25 Question Id : 7532296296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the letter-number cluster pair in which the letter-number clusters share the same relationship as that shared by the given letter-number
cluster pair?

CUTEA49 : XUGES7
Options :

1. % DOVE46: WLEV50
2. % NEST58: MEHT80
3. ¥ POST70: KOHG41
4. ® FISH40: URHS76

Question Number : 25 Question Id : 7532296296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3feRifhd THE! & IU T &1 70 B, R U 18 sierife s Iugi & i a8l & 7, S fou 0 gm & sierifed IHgi & da 3|

CUTE49 : XUGES7
Options :
1. * DOVE46: WLEV50




2. ® NEST58: MEHTS80
3. ¥ POST70: KOHG41
4. % FISH40: URHS76

Question Number : 26 Question Id : 7532296297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the number from among the given options that can replace the question mark (?) in the following series.

71,76, 83,94, 107, 124, 143 ,?
Options :
1. ¥ 166
2. % 170
3. % 180
4, % 194

Question Number : 26 Question Id : 7532296297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu U faemedl @ I TRe &1 994 i, St Rafafaa aoft & vy fag (7) & =M W s g g

71,76, 83,94, 107, 124, 143 ,?
Options :
1. ¥ 166
2. %170
3. % 180
4, % 194

Question Number : 27 Question Id : 7532296298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which number in the following number series is INCORRECT?



7,24,76,233,703,2122
Options :

1. % 76

2. % 233

3.9 703

4. % 2122

Question Number : 27 Question Id : 7532296298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfefaa g Juft & S T W Tad 82

7,24, 76,233, 703,2122
Options :

1. ® 76

2. % 233

3.9 703

4. % 2122

Question Number : 28 Question Id : 7532296299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the fourth number in the same way as the first number is related to the second number and the fifth number is
related to the sixth number.

8:97::7:169 :: 11: 133
Options :

1. % 13

2.9 14

3. % 17

4. % 18

Question Number : 28 Question Id : 7532296299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

39 fadhey &1 997 BT, et e TR I 9t Waie g, S ugel ST &1 gust We § § 3R Uird TRed &1 So! G I g

8:97::?:169 :: 11: 133
Options :

1. * 13

2.9 14

3.% 17

4. % 18

Question Number : 29 Question Id : 7532296300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which option correctly represents the approximation of the given number to two decimal places?

15.8569763
Options :

1. % 15.85
2.9 15.86
3. % 16.00
4. % 15.90

Question Number : 29 Question Id : 7532296300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&I T fdbed <t TS TBAT & < SHAd R db Ifbe &I et &1 T SdT 82

15.8569763
Options :

1. * 15.85
2.9 15.86
3. * 16.00




4. * 15.90

Question Number : 30 Question Id : 7532296301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘A’ denotes ‘addition’, ‘B’ denotes ‘multiplication’, ‘C’ denotes ‘subtraction’ and ‘D’ denotes ‘division’, then what will be the value of the
following expression?

24A(15C12)B7C(24D6)A(32DY)
Options :

1. % 53

2. % 42

3.9 45

4. % 49

Question Number : 30 Question Id : 7532296301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g A' &1 31 TS 8, 'B' &1 314 7O B, ‘¢ &1 31 eI § 3R ‘D &1 31 T |, o Fafafed <isie &1 aH Fur g

24A(15C12)B7C(24D6)A (32D 38)
Options :

1. % 53

2. % 42

3.9 45

4. % 49

Question Number : 31 Question Id : 7532296302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which two signs should be interchanged to make the given equation correct?

36 -12-28x3+45=42



Options :

1. # +and +
2. #% +and x
3.% +and -
4. % xand—

Question Number : 31 Question Id : 7532296302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U gHieRU Y T8t B & foru foh ) gl Y iU | gear o anfew?

36 +12-28 x3+45=42
Options :

1% + 3R+

2. % 4+ 3R x
3.¥ + 3R -

4. % x 3R -

Question Number : 32 Question Id : 7532296303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Each of the letters given below has been assigned a unique number. Select the combination of numbers such that the
corresponding letters when arranged accordingly will form a meaningful word.

N R T U E D E
1 2 3 4 5 6
Options :
| % RN e i i T
) ® 0, Lo 302005



(O8]

&
=l
-
L
=
[

-

o
~1
—
w
i
L
I

Question Number : 32 Question Id : 7532296303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

-I1d 3T 71U oieR § U Ud® &l U fAfAy ofd adfed fhar T g1 il & 39 TaioH &l 994 Sifore, forbs
TR G 3&R] &I HARYT H IR Teh 1idh RJeg; &1l 6 |

N R T E D E
1 2 3 5 6 7
Options :
| % 6,7,3,1,4,2,5
, % 6,7,1,4,3,2,5
3.\;/6?‘1.3.4‘2.5
4 % 0,70 13,85 2

Question Number : 33 Question Id : 7532296304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



You have to determine the code for the given word. Consider the following table for numbers and its respective codes.

Numbers | 2 3 g |5 6 7
Codes W (Y |® |E (M| |V [E P

a) If both the third and fourth numbers are even numbers, then both the numbers will be coded as %a.

b) If both the third and sixth numbers are odd numbers. then both the numbers will be coded as (@.

c) If the second number is an odd number and the last number is an even number, then both the numbers will be
coded as &.

What is the code for *574615897" as per the given information?
Options :
| MV@QW@EPY

5 & MV%2%WMEPV
3 % MV%%WDEYV
4 % M&FQWMEP&

Question Number : 33 Question Id : 7532296304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



AU 3T TIU RMeg & O Fe/dls FYRG &1 8 | el 3R 39 Ud de/dis & (o Y difas] R [9aR
o |

e (1 |2 |13 |4 |5 |6 |7 |8 |9

dcdis (W |y [D [F [M |Q [V [E [P

a) Tfe ARl 3R 91T, SIHT S 0 A €, Al GlH T U1 Bl 0 o U 1 Heag (dhal S|

b) TS THERT 2R BAT, Tl YA fauH S 8, 11 Gl SATS &l @ & U H B 1d:g1 SITe|

¢) TS GERT AT U [quH T § SR e T Ush 94 O 8, a1 GHI Sl &l & & &0 H e [l
ST

&1 TS STHSRI & AHTUR 574615897 B HT/BHIS 1 82
Options :
|« MV@QW@EPY

» & MV%%WMEPV
3 % MV%%WDEYV

4 % M&FQWMEP&

Question Number : 34 Question Id : 7532296305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option that can replace the question mark (?) in the given figure and complete the pattern if no rotation
allowed.

%X

Options :

% % X

.
X5

Question Number : 34 Question Id : 7532296305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

3 e &1 9o B3 ol &1 7T 3M1pfa & W g () Bl ufaefid &= Gl € 9iR e o) 1 9 Ul g afg
A &I AN el 8

3

Options :

% % X

Eg

Question Number : 35 Question Id : 7532296306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Which figure will replace the question mark (?) in the following figure series?

7 & U
g
P | & U
Options :
X
1, %  —
XZ/
2. % Y
3. ¢ 2
_Y%
4. %

Question Number : 35 Question Id : 7532296306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

PR el saa § S H-4l 1P Uy g (7) B ufawdifid sl

P # & U
: 9
@ p # | & U
Options :
Z
1. =
L
2. % Y
3.¢ Z
Y
4. %

Question Number : 36 Question Id : 7532296307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option that is related to figure C in the same way as figure B is related to figure A.

Vi Al (W & & &
L2 - 5
& W |@ O Ao o
A &
Options :
> =
o P
(A
1. # <> A
. =
)
, @ 25 A
> =
¢
n
3. % = =




Question Number : 36 Question Id : 7532296307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Y A ed 1 99 < oll ATPId ¢ Y I UHR Tald g fo bR APl B, ATHid A Y Jelda g |

Vi Al W & D &
A : v - il 2
& W |e@ Of |4 o
A B C D
Options :
> =
.
(A )
1. % <> AN
> =
o, ™
(A
e A

2.¢




Question Number : 37 Question Id : 7532296308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three of the following four figures are alike in a certain way and one is different. Select the odd one.
Options :

1. ¢




Question Number : 37 Question Id : 7532296308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafeiRad IR e ical & 9 diF bl uh Migd die 4 GH & 2R U [dud g1 374 I 999 &1 T 1|

Options :




Question Number : 38 Question Id : 7532296309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct mirror image of the given combination when the mirror is placed at PQ as shown.

P

DIMENSION
Q

Options :

L, Moeiramida
L« DIWEM2IOMN
.« DINEUI2OMN

Lo 10ledMId

Question Number : 38 Question Id : 7532296309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



& 71T TgToi o TE! U UidfSa &1 99 & o/ G40l &l fG@T U 3 9R PQ TR TW1 4T & |

P

DIMENSION
Q

Options :

L« M0l dMId

,« DINENZION

«DIWNEUIZ2ONU

., ol2namiIda

Question Number : 39 Question Id : 7532296310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the

following figures. How would this paper look when unfolded?

o]
o




Options :

o
o]

[
o o ©
o

L% o Q0
(o]
00 Q0
) s
o
o o
o0 00
o O
o
3. %
Q
00 o0
Q
4. %

Question Number : 39 Question Id : 7532296310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



SIS & U Cho Bl HIS &I hH AR ford Rid Y Hg §U BT &I DIl 741 8, 98 fafd &I FEfRad siapiagr
o feama a1 g | WiaH IR g€ BT &ul e ol

o)
Q

Options :

o
o

o
o o O
o]

o
1. % -
o
ool |oo
0
2. ¢
o
o o
co| |o©
0 o
©




00 00

Question Number : 40 Question Id : 7532296311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option in which the given figure is embedded (rotation is NOT allowed).

<

Options :




Question Number : 40 Question Id : 7532296311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 e &1 90 B forad <1 715 +{1epfd wfafed 8 (ga #1 oAl 761 8|

i

Options :




T

3. %
[
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General Awarenessl

Section Id : 753229327
Section Number : 1
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20
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Sub-Section Id : 753229394
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7532296312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With the swearing-in of the nine new Judges on September 2021, the strength of the Supreme Court has risen to , including the CJI, out of
the sanctioned strength of 34.

Options :
1. * 30
2. % 3]
3. % 32
4, 33

Question Number : 41 Question Id : 7532296312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RydeR 2021 H, At 7T RN & AUY TG0 & WY, Iad AR J CJ1 aigd ArnedRi o Hot Se BITS ©, SIa(d Wigd
T34 5|

Options :

1. % 30

2. % 3]




3. % 32
4. v 33

Question Number : 42 Question Id : 7532296313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following became the Chief Minister of Tamil Nadu in May 2021?
Options :

1. ¥ Muthuvel Karunanidhi Stalin

2. % Sasikala Natarajan

3. % O Pancerselvam

4. ¥ Muthuvel Karunanidhi Alagiri

Question Number : 42 Question Id : 7532296313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

73 2021 H, g O Q@ S aftiemrg & g &1 /2
Options :

1. ¢ QYad HouNe e

2. % QRIBAT TR

3. % 3] TARAcaH

4. % TYIA HIUMY AR

Question Number : 43 Question Id : 7532296314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Nobel Prize in Physics for the year 2021 was awarded to:
Options :

1. # David Card, Joshua D Angrist and Guido W Imbens

2. ¥ Syukuro Manabe, Klaus Hasselmann and Giorgio Parisi
3. ¥ Benjamin List and David WC MacMillan



4. % Maria Ressa and Dmitry Andreyevich Muratov

Question Number : 43 Question Id : 7532296314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¥ 2021 & U WP FTANA RBR DI UeH fpar gl

Options :

1. % Sfag &s, \_rh'%le’ﬂ & UfiRe iR ]13_6;[ S&y, SHEY (David Card, Joshua D. Angrist and Guido W. Imbens)
2. ¢ W T, FAIY euaHH 3R foraifstar arfvdt (Syukuro Manabe, Klaus Hasselmann and Giorgio Parisi)
3. % qonfaF fore sk Sfas Soeg 1. BT (Benjamin List and David W.C. MacMillan)

4. % TIRTT T 3R fefiEt siisafoa 'ﬂ'\"laa (Maria Ressa and Dmitry Andreyevich Muratov)

Question Number : 44 Question Id : 7532296315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Ministry of Road Transport launched ‘iIRASTE’, in September 2021, which is an Artificial Intelligence-powered project. iRASTE is an
acronym for:

Options :

1. ¢ Intelligent Solutions for Road Safety through Technology and Engineering

2. % Innovative Solutions for Road Safety through Technology and Engineering

3. # Intelligent Software for Road Safety through Technology and Engineering

4. ® Infrastructure Solutions for Road Safety through Technology and Engineering

Question Number : 44 Question Id : 7532296315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS URag- Hared A RideR 2021 & iRASTE' ST IHRH o, ot S Riaa Sefasig-Tanferd ufais T 8 1 iRASTE, P1
e FU

Options :

1. ¢ Intelligent Solutions for Road Safety through Technology and Engineering (5%5?@? ?I'T?IQ]F TR IS AFT géﬁa‘ﬂ‘rﬁ Us E’Gﬁﬁﬂﬁﬂ)
2. # Innovative Solutions for Road Safety through Technology and Engineering (3 Arafed {-I\Ilc'ij\-‘{i{-i R IS ATL %Léa'_-l-)l?lkll\_rﬁ Us sﬁﬂﬁﬂﬁ_"l)
3. # Intelligent Software for Road Safety through Technology and Engineering (‘.%Eﬂnl Sie FiUeatR BIR IS YT! gj\éﬂ?ﬁﬁﬁ Us gﬁﬂﬁqﬁ_ﬂ‘)




4. ® Infrastructure Solutions for Road Safety through Technology and Engineering (E'Eb—m ‘vﬁ?{sﬂﬂ PR IS AFT agéa:ha‘ﬁ:ﬂ Us
SEIRRIRY)

Question Number : 45 Question Id : 7532296316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to a 2021 report from the International Diabetes Federation (IDF), the number of diabetic patients in India is the:
Options :

1. ® highest in the world

2. ¥ second highest in the world

3. # third highest in the world

4. ® fourth highest in the world

Question Number : 45 Question Id : 7532296316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS AYHE T (IDF) BT 2021 HI RUIE & IR, YR § SHleco/Ayag s AN prdenm
Options :

1. % fay o qailte 8

2. v Iy AR VA RS

3. % Y TAMBVEARE

4. % QYT IV RFE R

Question Number : 46 Question Id : 7532296317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the rank of India in the 58th edition of EY's ‘Renewable Energy Country Attractiveness Index' (RECAI), which ranks the world's top
40 markets (nations) on the attractiveness of their renewable energy investment and deployment opportunities?

Options :

1. ® First
2. ® Second
3. % Third



4. % Fourth

Question Number : 46 Question Id : 7532296317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

EY & "Rguad Tsil el Scfaea¥ SSRT (RECAI) P 589 TWHRUT H YR BT RIM () DI 91 U1, Sl g1 & MY 40 IIRT ([T Bl
ST e Solf AR SR URFRISH SawR} & SHTHNUTRICrdT % MR TR ¥ Ha 22

Options :

1. % ggdl

2. % QI

3. ¢ dIRT

4. % T

Question Number : 47 Question Id : 7532296318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of November 2021, which of the following nations is scheduled to host the 2022 FIFA World Cup?
Options :

1. ¥ Qatar

2. % UAE

3. * Kuwait

4. % Saudi Arabia

Question Number : 47 Question Id : 7532296318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AGeR 2021 T UTed TSR & STIR, 8 T I DIF AT S 2022 BB Ay HY BT SRSH HIM?
Options :

1. ¥ HR

2. % JUE,

3. % Had




4. % gSHal 3Rd

Question Number : 48 Question Id : 7532296319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India defeated how many nations at the Super 12 stage of ICC Men's T20 World Cup 2021?
Options :

1. * One

2. % Two

3. ¥ Three

4. % Four

Question Number : 48 Question Id : 7532296319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA 7 ICC TN T20 fay U 2021 & R 12 TR0 H T <=1 DI g
Options :

1. # U

2. % T

3. ¢ diF

4. % R

Question Number : 49 Question Id : 7532296320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to medieval dynasties of India, Khalji Dynasty ruled over Delhi for a period of years.
Options :

1. % 20

2. % 40

3.9 30

4. % 50



Question Number : 49 Question Id : 7532296320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & AFGHH Aea= o e o, et Irerawr A au! &1 Ay e feeell IR = foea Tl
Options :

1. # 20

2. % 40

3.9 30

4. % 50

Question Number : 50 Question Id : 7532296321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to the medieval history of India, in which year did the fourteenth-century chronicler Ziauddin Barani write the Tarikh-e Firuz
Shahi (‘History of Firuz Shah’)?

Options :
1. ® 1367
2.9 1357
3. % 1347
4. % 1337

Question Number : 50 Question Id : 7532296321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aug—%%ﬂmm?ﬂ:rgﬁ's’m$mﬁﬁ,WW%WWWﬁW@WWUWWWWQW
Y12

Options :
1. % 1367
2.9 1357
3. % 1347
4. % 1337



Question Number : 51 Question Id : 7532296322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to socio-religious reform movements of India, who was the founder of the ‘Brahmo Sama;j’?
Options :

1. ¥ Raja Ram Mohan Roy

2. % Ishwar Chandra Vidyasagar

3. # Swami Ramakrishna Paramhansa

4. % Swami Dayananda Saraswati

Question Number : 51 Question Id : 7532296322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA & JHTID-UTHS IR SfieraH & deH H el THIS (Brahmo Samaj) & TRITIH HIF U2
Options :

1. ST IH HigH I

2. % TR Tg f[AgER

3. % WH GV RAGY

4, % ! S IXAdl

Question Number : 52 Question Id : 7532296323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to British economic policy in context of India, who among the following introduced railways in India?
Options :

1. # Lord Auckland

2. % Sir Charles Metcalfe

3. # Lord Hastings

4. ¥ Lord Dalhousie

Question Number : 52 Question Id : 7532296323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

YRd & v | fafesr ¥ -fifa & ded &, e & 9 foum yRa & Yod &t goema a1 A
Options :

1. % s 3fidds

2. % WA HePhTh

3. % dl8 g™

4. ¢ TS SIS

Question Number : 53 Question Id : 7532296324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to India’s independence movement, in which session of the Indian National Congress was the ‘Jana Gana Mana’ first sung?
Options :

1. % Surat 1907

2. % Calcutta 1911

3. ® Lucknow 1916

4. ¥ Amritsar 1919

Question Number : 53 Question Id : 7532296324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR o WA ficier & T o, HRAII AP S & g SR H o 7101 7 Ugell SR 711 1T Y12
Options :

1. % A 1907

2. ¢ HABT 1911

3. % @IS 1916

4, % AW 1919

Question Number : 54 Question Id : 7532296325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

With reference to important monuments of India, in which state is the famous Kamakhya Temple located?
Options :

1. * Rajasthan

2. # Himachal Pradesh

3. % Assam

4. % Bihar

Question Number : 54 Question Id : 7532296325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & Agaquf WR! & Tgf o, ulig wrredt wfeR forg s & fRya 82
Options :

1. % SIRYTH

2. % fROMd U™

3.9 Y

4. % fogR

Question Number : 55 Question Id : 7532296326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to the Indian Culture, the paintings and sculptures of Ajanta Caves in Maharashtra are related to which of the following religions?
Options :

1. # Hinduism

2. ¥ Buddhism

3. # Jainism

4. % Zoroastrianism

Question Number : 55 Question Id : 7532296326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R Tpfa & Geo H, ARy & Sroidr o) qw1ei o fagert ok gfdat g & § fg o 3 gefia g2




Options :

Question Number : 56 Question Id : 7532296327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to classical Indian dances, Kathakali dance is a harmonious combination of forms of fine art.
Options :

1. % 7

2.¥5

3.3

4. % 2

Question Number : 56 Question Id : 7532296327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA R T o ey H, HYHdl T, aferd dal Qferal b1 T A aHg IS B
Options :

1. %7

2.¥5

3.% 3

4, % 2

Question Number : 57 Question Id : 7532296328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Singhi Chham is a folk dance of which of the following states?
Options :



1. # Manipur
2. % Sikkim
3. # Assam

4. ¥ Meghalaya

Question Number : 57 Question Id : 7532296328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el B (Singhi Chham) Y # ¥ frg o 1 A T 82
Options :

1. % HOQR

2. ¢ THfdpH

3. % 34H

4. % HYTY

Question Number : 58 Question Id : 7532296329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to Indian Classical dance forms, Chemancheri Kunhiraman Nair is a noted dancer in which of the following dance forms?
Options :

1. ¥ Kathakali

2. % Mohiniyattam

3. % Bharatnatyam

4. % Kathak

Question Number : 58 Question Id : 7532296329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRATT AT T Aferdl & Tl B, S0 SR IR 9 8 T fg 9o el & ol Tde /2
Options :

1. ¢ HYHAl




2. % TfgRorgH
3. % ARITEIH
4. % HYD

Question Number : 59 Question Id : 7532296330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to cultural festivals celebrated across different states of India, in which state is the Yaoshang festival primarily celebrated?
Options :

1. # Mizoram

2. % Rajasthan

3. % Himachal Pradesh

4. ¥ Manipur

Question Number : 59 Question Id : 7532296330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR & fafie sl § AT o7 aTd S iad ARl & de &, TR Ica Jed: fd I § =1 Sifd 82
Options :

1. % FSIRH

Question Number : 60 Question Id : 7532296331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following is the famous exponent of Hindustani classical music who was awarded Bharat Ratna and has also sung the famous
song ‘Mile Sur Mera Tumhara’?

Options :
1. ¥ Kumar Gandharva
2. % Bhimsen Joshi



3. % Kunnakudi Subbalakshmi

4. % Nissar Hussain Khan

Question Number : 60 Question Id : 7532296331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & § fegrari IRetg Tifid & a8 uiig ufaures &4 8, S URd Xd ¥ qed fasar T o1 3R forgia ufirg i e R o
TR I TR U2

Options :
1. % AR Ted
2. ¢ g =it
3. % HAPS! YIAEH!
4. % TR g9 @H
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 7532296332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to financial institutions of India, in which year was the Reserve Bank of India established?
Options :

1. % 1930

2. %1935

3. % 1940

4. % 1945

Question Number : 61 Question Id : 7532296332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR 1 fachia dwarsfi & gy &, YR Roid & &1 RIToT ford au g3 &
Options :

1. ® 1930

2.9 1935

3. % 1940

4. % 1945

Question Number : 62 Question Id : 7532296333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



How many banks were nationalised by the government of India in the year 19807
Options :

1. ¥ Six

2. # Four

3. % Eight

4. ® Five

Question Number : 62 Question Id : 7532296333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ay 1980 H HRA WHR GRI fdha ool 1 AgaeRuT foba am 4r?
Options :

1. ¥ &%

2. % IR

3. % 33

4. % U

Question Number : 63 Question Id : 7532296334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per the Human Development Report 2020, India has been categorised as a country with:
Options :

1. # high human development

2. ¥ medium human development

3. % low human development

4. # very high human development

Question Number : 63 Question Id : 7532296334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A4 fder RUIE 2020 & IR, YR &1 aId SR & &0 § qEfiepd b T 5|

Options :



1. % 3= HHd fab

2. ¢ TH A4 faer™

3. % 9 g4 faerm

4. % AP I=d A4 f[dpr

Question Number : 64 Question Id : 7532296335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following options best defines the term ‘demonetization’?
Options :

1. #® Introducing a new currency in the economy

2. % Reducing the official value of a currency in relation to other currencies
3. # Increasing the official value of a currency in relation to other currencies

4. ¥ Stripping a currency unit of its status as legal tender

Question Number : 64 Question Id : 7532296335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & ®F A1 fdwed fagdiemrur Weg & Taiad &1 I gRUINd HRal 52
Options :

1. % SfHaRI | U 15 GaT A BT

2. % 3 g3l & oy T fodt gaT & SRS G Dbl S HRAl

3. % 39 g3l & ddy T fordll g1 & UGS Jod ol dgHT

4.« U A1 SH1s ! a8 &1 & U H IUD| U Bt 3T =T

Question Number : 65 Question Id : 7532296336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to economic reforms measures introduced in India, in which year was the Liberalized Exchange Rate Management System
(LERMS) instituted?

Options :



1. ® 1991
2. % 1989
3. % 1994
4.4 1992

Question Number : 65 Question Id : 7532296336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & ] U 7Y offer guR A st & Teu #, Sefied fafa aR vdy gomelt (T S, 3R TH.TH.) & R fhg a8 g3 o
Options :

1. %® 1991

2. % 1989

3. % 1994

4.+ 1992

Question Number : 66 Question Id : 7532296337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to Wildlife Sanctuaries and National parks of India, in which state is the Valmiki National Park located?
Options :

1. ¥ Bihar

2. % Kerala

3. * Gujarat

4. = Uttar Pradesh

Question Number : 66 Question Id : 7532296337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & JASd SIHARUET 3R ST I & e H, aresiifes g Ia fvg ey o fyd 82

Options :

1. ¢ f9gRr




2. % I

3. % TORId
4. % IWUCY

Question Number : 67 Question Id : 7532296338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to physical features of India, the Himalayan Mountains form an arc, which covers a distance of about:
Options :

1. ® 1,400 km

2. % 3.400 km

3. % 2,400 km

4. # 4,400 km

Question Number : 67 Question Id : 7532296338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRd &) Hifae faarsit & deu & fFHTera udd ue =M (arc) FRffd wvar 8, oo dars ammr gl
Options :

1. # 1,400 Km

2. % 3,400 Km

3. % 2,400 Km

4. % 4,400 Km

Question Number : 68 Question Id : 7532296339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Indian state has the second highest population after Uttar Pradesh as per the Census of 20117
Options :

1. % Tamil Nadu

2. % Bihar

3. ¥ Mabharashtra



4. # Rajasthan

Question Number : 68 Question Id : 7532296339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2011 P SFRTUMT & SR, IR U & §18 HRA & (59 g B STed Jay 1w g2

Options :
1. % alila:ug
2. % fogR

3. ¥ TERTY
4. % TR

Question Number : 69 Question Id : 7532296340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With reference to demographic indicators of India, which state has the lowest crude birth rate in India?
Options :

1. % Uttarakhand

2. ¥ Kerala

3. ¥ Mabharashtra

4. # Telangana

Question Number : 69 Question Id : 7532296340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRA & STAIRSD I GaD! (SfShed) & HeH &, URd T fod s 31 3=Nfd 37 &R 968 9 82
Options :

1. # JIRES

2. ¢ B

3. % HeRIY

4. % JEIHT



Question Number : 70 Question Id : 7532296341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the main thrust areas of Atal Mission for Rejuvenation and Urban Transformation (AMRUT)?
Options :

1. % Water supply

2. % Sewerage and septage management

3. ¥ Motorised urban transport

4. ¥ Green space/parks

Question Number : 70 Question Id : 7532296341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

49 & Q D19 I 3fed TdipRuT 3R &<} uRkad fH (AMRUT) &1 T U AUl &3 -T81 &2
Options :

1. % Semgfd

2. % WS 3R IO UsieH

3. ¢ AR F1ferd W) uikdeH

4. ® gRa M/aTh

Question Number : 71 Question Id : 7532296342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following rivers does NOT drain into the Bay of Bengal?
Options :

1. ¥ Narmada

2. # Kaveri

3. % Krishna

4. # Godavari

Question Number : 71 Question Id : 7532296342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

9 & q i T 7} I >t @ret H T8 R 82
Options :

1. ¢ THer

2. % PR

3. % P

4. % TMgrasy

Question Number : 72 Question Id : 7532296343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which city did NABARD (National Bank of Agriculture and Rural Development) set up a centre for climate change?
Options :

1. # Bengaluru

2. # Hyderabad

3. % Lucknow

4. ¥ Shimla

Question Number : 72 Question Id : 7532296343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TETS RIS BN Td ATl fabTy dop) A fobd wreR # Serarg uRacd g o R B 22
Options :

1. % dTe

2. % GEEG

3. ¥ YIS

4. % fRmrer

Question Number : 73 Question Id : 7532296344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The micro-organisms which convert the dead plants and animals to humus are known as:
Options :

1. #* bacteria

2. % fungi

3. # protozoa

4. ¥ decomposers

Question Number : 73 Question Id : 7532296344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o et (e SR Sigeif Bl ggra A sea A ggASiai Bt PRI ST |
Options :

1. % Sidry]

2. % dddh

3. % Ticreled

4. ¢ AHUYCH

Question Number : 74 Question Id : 7532296345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The vascular tissue for the transport of water and nutrients in the plant is called the:
Options :

1. % phloem

2. # collenchyma

3. ¥ xylem

4. ¥ gclerenchyma

Question Number : 74 Question Id : 7532296345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T (UreT) H 9 3R UIves dedl & AT & o Jag-t Sas ol RIS



Options :

1. ® tl’?’ﬁ"l’lq(Phloem)

2. % m(collenchyma)

3. ¢ VIgAH (Xylem)

4, % W(Sclerenchyma)

Question Number : 75 Question Id : 7532296346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following mirrors are most commonly used by dentists to see an enlarged image of the teeth?
Options :

1. ¥ Concave mirrors

2. % Convex mirrors

3. % Bifocal mirrors

4. % Plain mirrors

Question Number : 75 Question Id : 7532296346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

< Ferfereep! gRI el 1 3iftrafdia Bfd 1 < o fory 37 9§ fobw U1 1 waifeies SUTNT feba Siretl g2
Options :

1. ¢ 3fadd guul

2. % JTd GUUT

3. % fgwhime quul

4. % gHIA gUUl

Question Number : 76 Question Id : 7532296347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The amount of water recommended by the United Nations for drinking, washing, cooking and maintaining proper hygiene is a minimum of
litres per person per day.



Options :
1. % 100
2. %10
3. % 35
4.9 50

Question Number : 76 Question Id : 7532296347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U, &, W1 U1 3R I s dl 91T 36 & foTT Tga Y gRT SRIRT S 1 713 vl &= ufd safa <g7aw e gl
Options :

1. * 100

2. %10

3. % 35

4.9 50

Question Number : 77 Question Id : 7532296348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Article 20 of the Constitution of India deals with the:
Options :

1. % abolition of titles

2. % protection in respect of conviction for offences
3. # continuance of the rights of citizenship

4. ¥ promotion of co-operative societies

Question Number : 77 Question Id : 7532296348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR AU BT 3¢ 20 BREIRGE]
Options :

1. % JOTel & ofd



2. ¢ AT & foTd QRITG o Jae H TR&
3. % qRRGdl & SMYBR] P ARl
4. ® ggHRI IrHfaal BT e

Question Number : 78 Question Id : 7532296349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is correctly matched?

Options :

1. # Article 19(e) — Right to form associations

2. % Article 19(b) — Right to practice any profession

3. ¥ Article 19(a) — Right to freedom of speech and expression

4. ® Article 19(g) — Right to assemble peaceably and without arms

Question Number : 78 Question Id : 7532296349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o d o a1 gafd g2

Options :

1. % 3TDG 19(c) — T T BT DR

2. % 3G 19(b) - fobil 1 URI &1 A BT ABR

3. ¢ TG 19(a) - A% UG TNl DI a7l BT TR

4. % TS 19(g) - Aayd® SR o1 IRA & THA 811 &1 SMRABR

Question Number : 79 Question Id : 7532296350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of October 2021, who among the following is the Union Minister of Health and Family Welfare?
Options :

1. ¥ Dr. Mansukh Mandaviya

2. % Dr. Harsh Vardhan



3. % Dr. Jitendra Singh
4. # Dr. Rajkumar Ranjan Singh

Question Number : 79 Question Id : 7532296350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIFZER 2021 Th YT AFBRI & AR, FH T B ol WA Td YRR HedTol T g2
Options :

1. ¢ 8. 7 gE gerfaar

2. % 8T guaeH

3. % 1. fordg Rig

4. % 1. IGTHHR 3o Rig

Question Number : 80 Question Id : 7532296351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As of October 2021, who among the following is the Chief Minister of Punjab?
Options :

1. # Navjot Singh Sidhu

2. % Charanjit Singh Channi

3. # Sukhjinder Singh Randhawa

4. % Amarinder Singh

Question Number : 80 Question Id : 7532296351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{AEER 2021 TH UK SHBR! & AR, 9 & T HH Uod & TeIwHT 82

Options :

1. % Aaond &g Rigy
2. ¢ RO R T2

3. % gufeiar Rg durar




4. % MRk Rig
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Question Number : 81 Question Id : 7532296352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



f(n:n.sz 1 —(p.479)%
0.2

Find the value o

Options :
1 ® 1.4

5 % 0.42
3 @ 0.14
4 % 0.042

Question Number : 81 Question Id : 7532296352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s R z
(0.521) - 3':0.4-?9] a?[ ]:HT_I' maﬁ'ﬁqi

Options :
1 #® 1.4

5 % 0.42
3 ¢ 0.14

4 % 0.042

Question Number : 82 Question Id : 7532296353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the value of 0.13— 1.1
Options :



22

1. % 25
44
2 & 45
88
3 % 9
1
4% 5

Question Number : 82 Question Id : 7532296353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0.13— 1.1 DT HH JTd Bifog|

Options :
=k

1. ® 25
o

2. & 45
2

3. 8 9
1

4. % 5

Question Number : 83 Question Id : 7532296354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the value of k in the following equation.

7.58+0418—3.274— 2k =1.38
Options :

1w 3.344

» ® 1.172

3 @ 1672

4 % 1.774

Question Number : 83 Question Id : 7532296354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR TS0 H k & A J1d i |

7.58+0418—3.274— 2k =1.38
Options :

1 ® 3.344

» # 1.172

3 & 1.672

4 % 1.774



Question Number : 84 Question Id : 7532296355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify the following expression.

38400 + 545+ 065+ 1211+ 1.25
4

Options :
1.« 113.14

» % 88.14
3 % 116.15

4 % 111.15

Question Number : 84 Question Id : 7532296355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafiRad @i &l Td Sifod|

384.05 + 5454+ 0.654+12.11 4+ 1.25
4

Options :
1.« 113.14

» % 88.14

3 % 116.15



4 % 111.15

Question Number : 85 Question Id : 7532296356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify the following expression.

2.036-2.36+0.2 0.28
0.06—0.356 5.6

Options :
1. % 2.24

Question Number : 85 Question Id : 7532296356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafiRad @i &l Td Sifod|

2.036-2.36+0.2 _ 0.28
0.06—0.556 - 5.6

Options :

1 % 2.24



Question Number : 86 Question Id : 7532296357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the value of the following expression.

1.234 6l.55
J— “sez 300+ 32.6
154.5 h
Options :

1. 15

Question Number : 86 Question Id : 7532296357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



FgiaRad =vie &1 /9 1 Sifeg|

1.2524 6l.55
J— “sez 300+ 32.6

154.5 N
Options :

1.« 15

Question Number : 87 Question Id : 7532296358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify the following expression.

1
(27)a+%1296

V512
Options :

NEY



@ |-

w | o

Question Number : 87 Question Id : 7532296358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRed o & TRd Hife|

+%1296

51

(27)

=mf mle

]

Options :
23

1. = g

V2

N
#

| =]
s

w | =

w | o

Question Number : 88 Question Id : 7532296359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Simplify the following expression.

15%28-20
125+25x%5
Options :
1 % 14

) % 18
3. % 15

4.+ 16

Question Number : 88 Question Id : 7532296359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafRad 2o &l Td Dol

15%28-20
125+25x%5
Options :
1% 14

> # 18



Question Number : 89 Question Id : 7532296360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify the following expression.

122 54° 7
3 & 4

Options :
11

1.& 12
Z

7 ® 1z
11

2 % Vi
3

.-
4. % 4

Question Number : 89 Question Id : 7532296360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfeRad ol &l §Rd HIfY|

2 i4° 7
3 ] 4
Options :
11
v 12



Question Number : 90 Question Id : 7532296361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the value of the following expression.

2 1 2 4 1 2

Fo=2 w4+

3 5 15 5 3 3

i y { \

Y E R
3 L5 5 \ 4

208
3 % 477

208
4. % 477



Question Number : 90 Question Id : 7532296361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

FgfeiRdd ule &l 19 J1d Sifou|

33—-2

1
3 5"
5'3
5)

i
!
b

2 41 2
—_—t — =t —
15 5 3

el
(-3

\
-
Optlons :

92
9

1. #

T
2. % 9
208
3 % 477

208
4. % 477

Question Number : 91 Question Id : 7532296362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a certain month, Vinay donated 7% of his income to a charity fund and gave 20% of the remaining to his mother. He

was left with ¥37.200. Find his monthly income (in ).

Options :
| % 48,500



Question Number : 91 Question Id : 7532296362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fopdl 7 H, fa70 A 31U 211 BT 706 U IRCI he H g & [T 3R Y HT 20 A0 7 P ¢ 3811 7
O 237,200 99 Y| I9D] AYD 39 (2 H) J1d Hifod|

Options :
| % 48,500

5 50,000

Question Number : 92 Question Id : 7532296363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

76% of a number is 2432. What is 51% of that number?
Options :
1 % 1620

) % 1624



3 @ 1632

4 % 1640

Question Number : 92 Question Id : 7532296363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uh G BT 76%, 2432 & e & | 39 GBI BT 51% 399 4 [T IR 52
Options :
| % 1620

, % 1624
3 @ 1632

4 % 1640

Question Number : 93 Question Id : 7532296364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In an examination, 6% of the candidates were absent and 30% of the remaining candidates failed. If 329 candidates

passed, then find the total number of candidates.
Options :

| % 575

5 & 500



Question Number : 93 Question Id : 7532296364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Y& T, 6% A3l SRRy o SR Y 3rafigl o 9§ 300 2wVl &1 U] Tfe 320 el S<iivi gu gl dl
gl &1 Gl WA A Bifore|

Options :

——

1. % 575
5 & 500

3 % 540

Question Number : 94 Question Id : 7532296365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper sold two computer tables at 5,400 each. On one, he lost 10%, and on the other, he gained 20%. What is
his overall gain or loss (in )?

Options :

| = Gain, 3265

) ® Loss, 2280



3 % Loss, 2265

4 « Gain, 2300

Question Number : 94 Question Id : 7532296365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Uh GHER - &l LR cad 5,400 T DI & Y I | b TR 3 10% Pl BT §g 3R T T3 20% Bl
TH BT IGb] Sl WY TT1 81 (2 H) JTd BT

Options :
1% ¢4, 2265

, % BIF, 2280
3 % BIF, 2265

4 v QY. 2300

Question Number : 95 Question Id : 7532296366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 56% of A= 140 and A% of B =5, then find
(B + 4)% of A.

Options :

1 ® 14

2.¢ 15



3 & 16

4 % 12

Question Number : 95 Question Id : 7532296366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

G AP 56% = 140 AR B BT A% =58, dl
AP (B + 4)% BT HM J1d DI |

Options :

1% 14

7 o 15
3 #% 16

4 % 12

Question Number : 96 Question Id : 7532296367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Anuj was planning to contribute a certain amount of money every month to an old age home. Due to some reason, he

decided not to contribute money in February and September. To maintain the annual contribution that he had originally
planned, by what percentage should he increase his monthly contribution across other months of the year?

Options :

1. % 25%



2 20%
3 % 24%

4 % 18%

Question Number : 96 Question Id : 7532296367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

30l R e U 99 H Uah [AT3d R &1 ARG &3 &1 gl €41 T T {hd! HRUMRL, 399 BRas! AR
fRdieR H ARTGH el S &1 Uiy 1| aifties aRTETH & Jd Ao & S §41U 3@ o [0, 34 a9 & o=
el T ouq HIfas arTeM o fara uia=rd & gl &=l 91w

Options :

% 25%
5 & 20%
3 % 24%

4 % 18%

Question Number : 97 Question Id : 7532296368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A fruit seller has some apples. bananas and oranges. The number of bananas is 60%o less than that of apples, and the

number of oranges is 12.5% more than that of bananas. If the total number of fruits is 370, then find the number of
oranges.
Options :



Question Number : 97 Question Id : 7532296368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U W [dshdl & UMY $3 U4, Bal AR o o | Hall o] ST, Tal &1 W@ Y 60% HH ©, AR R &1 Y&, Hal
B GBATY 12.5% D 31 3G Hal DI al U= 370 8. A YR| DI S J1d BT |

Options :

Question Number : 98 Question Id : 7532296369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sum of 293.000 is split into two parts. One part is lent at 15% p.a. simple interest for 10 years and the other part at

20% p.a. simple interest for 8 years. If each part yields equal interest, then find the smaller part of the sum (in 2).
Options :



| v 45.000
5 % 44.000
3 % 48,000

4 = 43,500

Question Number : 98 Question Id : 7532296369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

293,000 1 AR B &I HIT H fGHIRIT [Har Tar g1 U HIT &1 15% aliids ATRUT 84T9] ] &2 OR 10 Y o U 31
I HRT 1 209 AT HIYRUI 19 @] G2 UR 8 Y o (oY IYR a1 ofdl €| afe Weddh YT UR S o419 forerdn
&, TI IR &1 Biel YA (z H) J1d Hiforg|

Options :
1« 45,000

5w 44.000
3 % 48,000

4 % 43.500

Question Number : 99 Question Id : 7532296370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a certain sum amounts to 23.162 in 4 vears and 3,621 in 7 vears on simple interest, then what is the sum (in Z)?



Options :

| x 2400
, % 2,450
3 % 2,500
4@ 2,550

Question Number : 99 Question Id : 7532296370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gfe FIYRUT 7o TR &1 775 Ueh (18T rRIMR14 T8 H 23,162 3R 7 98 H 23,621 81 91l o, Tl 4RI (2 #) A1
DI

Options :
| % 2,400

[

450

L

2. %

(O8]
b
I .
Lh
=
o

N
I -
LN
n
=

Question Number : 100 Question Id : 7532296371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
6 men or 12 boys can do a work in 20 days. In how many days can 5 men and 5 boys do the same work?

Options :



Question Number : 100 Question Id : 7532296371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

6 T2N 1 12 TS b4l B Bl 20 GT H IR THA 8| 5 T2 3R 5 TG I B Bl foba] feT H B Feadd g2

Options :
1 ® 14
> #® 15
3 « 16
4 % 18

Arithmetic Ability2
Group Number : 6
Group Id : 753229330
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No

Edit Attended Group? : No



Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability2

Section Id : 753229330
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229397
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7532296372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 women can do a work in 15 days. If men’s efficiency to do the work is 25% more than that of women. then in how
many days can 10 men do the same work?
Options :

1% 35



Question Number : 101 Question Id : 7532296372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s AfeT U S &l 15 T3 H S Uohdl! &1 AfS T8 &1 Srierdr, Higanail & gaq § 25 o 4w 8, df 10 oW
3! B B fobar & H e Gaohdl 52

Options :

1. % 5

2.# 0

3 8% &

Question Number : 102 Question Id : 7532296373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B and C working together can do a work in 8 days. A and B working together can do the same work in 18 days,
whereas B and C working together can do it in 9 days. In how many days can A and C, working together. do the same
work?

Options :

1 ® 11

7 & 12



Question Number : 102 Question Id : 7532296373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B 3R C U 1Y fHeH H1 Hd §U TS B1E Bl § faT H RTHR Tabd &1 A 3R B U 1Y Heichr I 1 bl
18 [ o T R Thd ¢, vidid B 3R ¢ T 1Y fieiehe S B &l o foT H QI X Udhd 81 A R € U 1Y
e 34 &1l & [ o § Q1 ar Ul &2

Options :

1 ® 11

2.¢ 12

Question Number : 103 Question Id : 7532296374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A, B and C can complete a work in 12, 15 and 18 days, respectively. They started the work together, but C left the work
3 days before its completion. B also left the work 2 days after C left the work. In how many days was the work
completed?
Options :
1 ® &

2.4 0

3_23'?



Question Number : 103 Question Id : 7532296374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B R C U B &I HHTE: 12, 15 AR 18 [GTH QS Ahd 81 3= U WY B 631 & b, b1 ¢ A
&1 RIEH I 3 fad ugd o1 8IS (8311 ¢ & $1 Big & 2 & 91e B 7 Wi B ©is fean| s fba- fea d @1
ga

Options :

1. % 8

2.# 0

Question Number : 104 Question Id : 7532296375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average age of Sunita, her mother and her father is 31 years. The average age of Sunita’s parents and her

grandfather is 51 years. If the grandfather is 74 vears old, then how old is Sunita?
Options :
| % 12 years

) ® 13 years



3 14 years

4 % 13 years

Question Number : 104 Question Id : 7532296375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT, 3°H! A1 7R IGas U 1 39T 241G 31 T8 & | GHlaT o ATl fdl 2R 3 a1l Bl 319d 2T 51 9N g
lE aTal B 1g 74 TY &, Al Griidl 1 241G faal 82

Options :

L% 1209
, % 1304
;v 14794
4% 15TY

Question Number : 105 Question Id : 7532296376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of five consecutive even numbers is k. If the next three even numbers are also included. then determine the
increase in the average.

Options :

1. % 2.8



Question Number : 105 Question Id : 7532296376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e ShHRTA G SBT3 T 37 k 8 | e STl o+l 8 el ol +ff =mfiet o fergn =g, <t ofied # g aredt
gfs 1 SIfY

Options :
1. % 2.8

2. 3

N
8
fad
]
L

Question Number : 106 Question Id : 7532296377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average of four numbers is 48. The greatest number is 72 and the smallest number is 22. If the difference between
the remaining two numbers is 16, then find the greater of the remaining two numbers.
Options :

1 #® 35



Question Number : 106 Question Id : 7532296377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR GEATRAl BT 2719 48 §1 370 I YU S T&T 72 & 2R a9 DI U= 22 21 afe A9 of Teraft o1 AR 16
. O IV gl SEreli H ¥ 91 T© J1d SIfor|

Options :

1. % 35

|

L]

Question Number : 107 Question Id : 7532296378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average marks scored by the first 3 position holders of section A of a class is 83.5, by the first 2 position holders of

section B is 87.5, and by the first 3 position holders of section C is 84.4. The average marks scored by the first 2
position holders of section D is 1.85 more than the average marks of all the 10 aforementioned position holders. Find

the average marks scored by the aforementioned position holders of sections C and D.

Options :



Question Number : 107 Question Id : 7532296378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U H&T P YT A S Ud 3 USRI 8Iee Y & UIKiieh! T 37 83.5 €, I B & Ugd 2 UoiYH 8icey &
T ih! BT 379d 87.5 ©, IR 4a=H ¢ & Ugd 3 UIolRM gieed o UTKiich! &l 3119d 84.4 § | UG- D & Ugd 2
TIoeH Bleey o UTdich! BT 3, IuRIad THT 10 UIoTRH elcey & UKo & 2I1d U 1.85 31fde 81 Ta¥H ¢
3R UFHE D & TIolIZH gleay & WIiidh! ol 2{d J1d Do |

Options :
1 #® 86.2

Question Number : 108 Question Id : 7532296379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A dealer purchased a second-hand car marked at ¥51,200. He got two successive discounts of 10% each. He spent 528
on its repair. For selling the car, how much should he mark on the car to earn an 8% profit after allowing a 10%

discount?
Options :
| % 750,280

5« 750,400
3 % 51,500

4 % 52,000

Question Number : 108 Question Id : 7532296379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U SITR 251,200 & 3ifdhd Hed aTeil U GRFT R TRIS! | I 10% UD DI &l Hhidid B Hal| ST 3D
T TR 2528 T [BU| PR 99 & A0, I IU T 10% P FE ol & d1G H 8% PI ATH foid B3 & [ BR
&1 Sifdad Heg feha1 T Tiew?

Options :

| % 50,280

5 o 250.400
3 % 51,500

4 ® 52,000



Question Number : 109 Question Id : 7532296380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A shopkeeper bought an item marked at 21.400 at a 25% discount. He changed the marked price and sold it by allowing

three successive discounts of 15%, 20% and 10% and gained Z174. If he gives two discounts of 20% each, then find his

profit percentage (correct to one decimal place).
Options :
| % 20.0%

5 & 21.9%

3 8 oo L0

Question Number : 109 Question Id : 7532296380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uch GHIMGR A 71,400 Hfdd Geg dTell U 9% 25% Be R Wic! | 3G 3ifdrd Hed &l gaa a1 3R 15%, 20%
R 10% BI A it FE GaR 5H g [GaT 3R 2174 S ATH UK 5311 TS T8 20% YA® BI &l 3¢ &dl 5, dl
FYD] W= T (U SRHAG I T Yuifichd) FTd HIfeTg |

Options :
1. % 20.0%

5 & 21.9%
3 % 22.2%

4 % 22.5%



Question Number : 110 Question Id : 7532296381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the radius of a circle is increased by 60%, then its area will increase by:
Options :

| % 60%

> # 120%

3.« 156%

4 % 256%

Question Number : 110 Question Id : 7532296381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe Tt o 31 B3 T 600 P 3G & 1t B, 1 39S &t  fobait 9fs gFft

Options :
1. ®% 60%

) # 120%

3.« 156%

Question Number : 111 Question Id : 7532296382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The sides of a triangular field are 15 m, 36 m and 39 m in length. Find the sum of the altitudes (in m) to its sides
measuring 15 m and 36 m.
Options :

1. #® 50

Question Number : 111 Question Id : 7532296382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U FAYTATHR 0 ﬁwaﬁﬁm 15m, 36 m AR 39 m 81 D! 15 m AR 36 m AT T Wﬁﬁm
{nlﬁhﬁl?:l}miﬂﬁag G‘IQI

Options :

1. ® 50

Question Number : 112 Question Id : 7532296383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Four equal maximume-sized discs are cut off from a square piece of paper whose perimeter is 30.8 cm. Find the area of
s 1o ;o 7
the remaining paper (in cm-).

(Usen = 1—2)

Options :
1. % 125

5 & 12.705

3 % 12.852

Question Number : 112 Question Id : 7532296383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
30.8 om URATT T U TNBR BTN & Tho o HYBHTH HBR & IR GHM 53 BIC 3T T E | Y HITS &1

&FHA (cm? H) 1d D]
22
(Use o= ?)

Options :
1. % 12.5

5 & 12.705

3 % 12.852



Question Number : 113 Question Id : 7532296384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

longest side (in cm).
Options :
1. % 36

) # 38

3 #% 40

Question Number : 113 Question Id : 7532296384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U YT @] YOIl 1 SFUIT 1 : 2 : 3 81 3fe o114 o1 YUl YT &5W%a 4312 cm? 8, A1 999 A Yol (cm H) 1A
SIS

Options :
1. ® 30

) % 38

3 % 40



4.« 42

Question Number : 114 Question Id : 7532296385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The curved surface area of a cylindrical pillar with a base radius of 10 cm and height of 1.25 m is four times the surface
area of a sphere. Find the diameter of the sphere (in cm).

Options :

1. ® 26

2. W 25

5 |

Question Number : 114 Question Id : 7532296385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 om TR 3541 3R 1.25 m $HATg 96 U TR WY & dh YY &1 &A%, Uh T o I8 &% & R -
o SRIER 8 | 1e &1 AR (em H) J1d HIOTT|

Options :

1% 20

7 o 25



43-,3 37

Question Number : 115 Question Id : 7532296386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The number of students and the marks scored by them out of 50 are shown in the following table.

Marks 0-10 10-20 20-30 30-40 40-50
No. of 0 G 12 18 4
Students

How many students scored less than 80% marks?
Options :
1. % 18
o # 40
3 o 36
4 % 18

Question Number : 115 Question Id : 7532296386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



<1 TS AT H S8 ST 3R 37 gRI 50 H I UK o[ I SR 41 ¢ |

& 0-10 10-20 | 20-30 | 30-40 | 40-50
Bl 0 6 12 18 4
T

fohe BIAT A 80% H HH 3d U fhu g2
Options :
1. % 18
) # 40
3.¢ 36
4 % 18

Question Number : 116 Question Id : 7532296387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The number of students from four institutes who like different sports is shown in the following table.

Institute Badminton| Hockey | Cricket | Volleyball
A 35 60 80 35
B 25 56 72 31
e 46 62 85 42
D 44 62 83 42

What is the average number of students liking Cricket in all the institutes?
Options :
1. ®8 72

) # 76
3.« 80

4 % 81

Question Number : 116 Question Id : 7532296387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



4 TR & T3y Tl &) Ut o3 ard B! &1 S alfeidsT § SIS 718 2|

TR | dofficd | gidl | fbbe | dloiamd
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Options :
1. ® 72

) ® 76
3.+ 80

4 % 8l

Question Number : 117 Question Id : 7532296388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The following table shows the income (in %), along with their sources, received by five employees of a company in the

last month of a year.

A B C D E
Salary 32,000 | 28,000 | 29,500 | 35,000 | 31.000
Bonus 3,000 6,300 7,200 8,500 8,500
Arrears 6,000 5,520 5,880 7.450 6,600
Overtime 5,050 4,000 4,590 7,000 7,100

What is the ratio of the total bonus paid to A, B and C to the total arrears paid to B, C and E?

Options :
1. % 10:9
> % 6:5
3.0 % 11:10
4.« 11:9

Question Number : 117 Question Id : 7532296388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
L% 10:9

3 % 11:10
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Question Number : 118 Question Id : 7532296389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A survey was conducted on 100 students each for 3 years regarding their preference of subjects. The following bar
graph shows the number of students interested in Engineering, Science, Commerce and other subjects.

Engineering  Science Commerce Others

The number of students liking Commerce in 2017 and 2018 taken together is what percentage more than those liking
other subjects in 2016 and 2017 taken together?
Options :

1. % 62%
2 o 62.5%
3. % 62.8%
4 % T0%

Question Number : 118 Question Id : 7532296389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



faeal &t a8y & Gae 1 3 9N dob Udd dR 100 BE! U U aaful faiford g 7 47| Fgifed IR 916
Ek_rﬂﬁﬂﬁ_ﬂ{]ingmeemm] ﬁ?ﬂq Science), anﬁE@I{Cmmueme] AR ﬁﬂfﬁ other subjects;tﬁﬁ@e[aﬁgﬁﬁ
& T Bl S-dl |

35

30 -

25 -

20 - 2016

15 =22017
@018

10 -

5 -

2017 AR 2018 H Sl (HATHR MUY H B G- Tt SHET Bl A@AL, 2016 3R 2017 H ot (e 3 fawdi &
B G T S &1 WS Y e wiawid e g2

Options :
1 % 62

5 & 62.5%

3 % 62.8%

4 % 70%

Question Number : 119 Question Id : 7532296390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The following bar graph shows the number of three woolen garments sold at shops A. B, C and D during 2 months.
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Which shop has sold the maximum woolen garments and how many?
Options :

| % D, 1880

> % A, 1600

3 » D, 1920

4 % A.2000

Question Number : 119 Question Id : 7532296390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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| % D, 1880

, % A, 1600

; » D, 1920

4 % A, 2000

Question Number : 120 Question Id : 7532296391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The numbers of persons, qualification-wise, registered in an employment exchange over 3 years have been presented in

the following bar graph.
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2017 2018 2019 2024

The total number of graduates registered in 2019 and 2020 is what percentage more than the total number of
postgraduates registered in 2017 and 2019 (correct to one decimal place)?
Options :

| ® 55.4%

Question Number : 120 Question Id : 7532296391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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General English1



Group Number : 7

Group Id : 753229331

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General English1

Section Id : 753229331

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 753229398

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 7532296392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Vibha left her earrings the dressing table.
Options :
1. #* to

2. % with



3.4 on

4. % for

Question Number : 121 Question Id : 7532296392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Vibha left her earrings the dressing table.
Options :

1. #* to

2. # with

3.% on

4. % for

Question Number : 122 Question Id : 7532296393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

There was a narrow bridge the river near the village.
Options :

1. # around

2. % amid

3. % among

4. ¥ across

Question Number : 122 Question Id : 7532296393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

There was a narrow bridge the river near the village.



Options :
1. # around
2. % amid
3. % among

4. ¥ across

Question Number : 123 Question Id : 7532296394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Did you that Maya was wearing a new ring?
Options :

1. ¥ notice

2. # noticed

3. #* noticing

4. % notices

Question Number : 123 Question Id : 7532296394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Did you that Maya was wearing a new ring?
Options :

1. ¥ notice

2. # noticed

3. * noticing

4. % notices

Question Number : 124 Question Id : 7532296395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to fill in the blank.

If Thomas his son the key he could have entered the house.
Options :

1. # have given

2. ¥ had given

3. % has given

4. # was giving

Question Number : 124 Question Id : 7532296395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

If Thomas his son the key he could have entered the house.
Options :

1. * have given

2. % had given

3. * has given

4. % was giving

Question Number : 125 Question Id : 7532296396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The thing about the show was its spectacular music.
Options :

1. # better

2. % more better

3. # most best

4. ¥ best



Question Number : 125 Question Id : 7532296396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The thing about the show was its spectacular music.
Options :

1. # better

2. # more better

3. % most best

4. ¥ best

Question Number : 126 Question Id : 7532296397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Don’t worry, the watchman their temperature before allowing them into the premises.

Options :

1. # are checking
2. # have checked
3. % will check

4. * has check

Question Number : 126 Question Id : 7532296397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Don’t worry, the watchman their temperature before allowing them into the premises.

Options :
1. #* are checking

2. % have checked



3. % will check
4. * has check

Question Number : 127 Question Id : 7532296398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Revanth usually a record of all his projects and their related details.

Options :

1. # is keeping

2. % are keeping

3. % will be keeping
4. ¥ keeps

Question Number : 127 Question Id : 7532296398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Revanth usually a record of all his projects and their related details.
Options :

1. # is keeping

2. % are keeping

3. % will be keeping

4. ¥ keeps

Question Number : 128 Question Id : 7532296399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Here is book our teacher asked us to refer to.



Options :
1. % a

2. % an

3. % some
4. ¥ the

Question Number : 128 Question Id : 7532296399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Here is book our teacher asked us to refer to.

Options :
1. * a

2. % an
3. % some
4. ¥ the

Question Number : 129 Question Id : 7532296400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Today’s test was unexpected one.
Options :

1. ¥ an

2. % a

3. # the

4. % only

Question Number : 129 Question Id : 7532296400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to fill in the blank.

Today’s test was unexpected one.
Options :

1. ¥ an

2. % g

3. % the

4. % only

Question Number : 130 Question Id : 7532296401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct active form of the given sentence.

An unidentified bag was found by them at the railway station yesterday.
Options :

1. # They find an unidentified bag at the railway station yesterday.

2. # They have found an unidentified bag at the railway station yesterday.
3. ¥ They found an unidentified bag at the railway station yesterday.

4. % They were finding an unidentified bag at the railway station yesterday.

Question Number : 130 Question Id : 7532296401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct active form of the given sentence.

An unidentified bag was found by them at the railway station yesterday.
Options :

1. ® They find an unidentified bag at the railway station yesterday.

2. % They have found an unidentified bag at the railway station yesterday.
3. ¥ They found an unidentified bag at the railway station yesterday.

4. ® They were finding an unidentified bag at the railway station yesterday.



Question Number : 131 Question Id : 7532296402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct passive form of the given sentence.

They allow no one to enter the building without masks.

Options :

1. ® No one has been allowed to enter the building without masks.
2. % No one is allowed to enter the building without masks.

3. # No one was allowed to enter the building without masks..

4. ® No one is being allowed to enter the building without masks.

Question Number : 131 Question Id : 7532296402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct passive form of the given sentence.

They allow no one to enter the building without masks.

Options :

1. # No one has been allowed to enter the building without masks.
2. ¥ No one is allowed to enter the building without masks.

3. % No one was allowed to enter the building without masks..

4. ® No one is being allowed to enter the building without masks.

Question Number : 132 Question Id : 7532296403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate phrasal verb.

Look ! There is a spider right above your head.
Options :

1. % in

2. % at



3. % off
4. ¥ out

Question Number : 132 Question Id : 7532296403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate phrasal verb.

Look ! There is a spider right above your head.
Options :

1. ® in

2. % at

3. ® off

4. ¥ out

Question Number : 133 Question Id : 7532296404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate phrasal verb.

Their plans of launching a new programme fell
Options :

1. ¥ through

2. % over

3. * about

4. % out

Question Number : 133 Question Id : 7532296404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate phrasal verb.

Their plans of launching a new programme fell



Options :

1. ¥ through
2. % over

3. # about
4. ® out

Question Number : 134 Question Id : 7532296405 Question Type : MCQ Option Shuffling
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the correctly punctuated sentence.

Options :

1. # “boys,” said the Coach. “can you tell me where the team office is?”
2. % The Coach said, “Boys Can you tell me where the team office is?
3. ¥ The coach said, “Boys, can you tell me where the team office is?”

4. ® “boys,” said the coach. “Can you tell me where the team office is.”

Question Number : 134 Question Id : 7532296405 Question Type : MCQ Option Shuffling
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the correctly punctuated sentence.

Options :

1. # “boys,” said the Coach. “can you tell me where the team office is?”
2. # The Coach said, “Boys Can you tell me where the team office is?
3. ¥ The coach said, “Boys, can you tell me where the team office is?”

4. # “boys,” said the coach. “Can you tell me where the team office is.”

Question Number : 135 Question Id : 7532296406 Question Type : MCQ Option Shuffling
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate indirect form of the given sentence.

: Yes Is Question Mandatory : No Option

: Yes Is Question Mandatory : No Option

: Yes Is Question Mandatory : No Option

Akshay said, “We are extremely unhappy that India did not win the T-20 match against Pakistan yesterday.”



Options :

1. #® Akshay said that we are extremely unhappy that India did not win the T-20 match against Pakistan yesterday.

2. ¥ Akshay said that they were extremely unhappy that India had not won the T-20 match against Pakistan the day before.

3. # Akshay said that they are extremely unhappy that India did not won the T-20 match against Pakistan yesterday.

4. ® Akshay said that they were extremely unhappy that India did not won the T-20 match against Pakistan the day before.

Question Number : 135 Question Id : 7532296406 Question Type : MCQ Option Shuffling
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate indirect form of the given sentence.

: Yes Is Question Mandatory : No Option

Akshay said, “We are extremely unhappy that India did not win the T-20 match against Pakistan yesterday.”

Options :

1. ¥ Akshay said that we are extremely unhappy that India did not win the T-20 match against Pakistan yesterday.

2. ¥ Akshay said that they were extremely unhappy that India had not won the T-20 match against Pakistan the day before.

3. % Akshay said that they are extremely unhappy that India did not won the T-20 match against Pakistan yesterday.

4. #% Akshay said that they were extremely unhappy that India did not won the T-20 match against Pakistan the day before.

Question Number : 136 Question Id : 7532296407 Question Type : MCQ Option Shuffling
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate direct form of the given sentence.

Shiva asked the Manager whether they could go and cast their vote then.
Options :

1. # Shiva said to the Manager, “Could they go and cast our vote then?”
2. # Shiva said to the Manager, “Can we go and casted our vote now?”
3. # Shiva said to the Manager, “Can we go and cast their vote then?”

4. ¥ Shiva said to the Manager, “Can we go and cast our vote now?”

Question Number : 136 Question Id : 7532296407 Question Type : MCQ Option Shuffling
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: Yes Is Question Mandatory : No Option

: Yes Is Question Mandatory : No Option



Select the most appropriate direct form of the given sentence.

Shiva asked the Manager whether they could go and cast their vote then.
Options :

1. # Shiva said to the Manager, “Could they go and cast our vote then?”
2. # Shiva said to the Manager, “Can we go and casted our vote now?”
3. # Shiva said to the Manager, “Can we go and cast their vote then?”

4. ¥ Shiva said to the Manager, “Can we go and cast our vote now?”

Question Number : 137 Question Id : 7532296408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank. Select the word which has a positive connotation.

The family was very proud of their granddaughter who was but active.
Options :

1. ¥ plump

2. % fat

3. # stout

4. # overweight

Question Number : 137 Question Id : 7532296408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank. Select the word which has a positive connotation.

The family was very proud of their granddaughter who was but active.
Options :

1. ¢ plump

2. ® fat

3. % stout

4. ® overweight



Question Number : 138 Question Id : 7532296409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that denotes the meaning of the underlined word in the given sentence.

When I was very young I had the privilege of meeting the royal visitors.
Options :

1. % responsibility

2. % misfortune

3. # aversion

4. ¥ opportunity

Question Number : 138 Question Id : 7532296409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that denotes the meaning of the underlined word in the given sentence.

When I was very young I had the privilege of meeting the royal visitors.
Options :

1. # responsibility

2. % misfortune

3. # aversion

4. ¥ opportunity

Question Number : 139 Question Id : 7532296410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate word to fill in the blank.

It will not a difference if you do not go to work today.
Options :
1. * do

2. % make



3. # take
4. % be

Question Number : 139 Question Id : 7532296410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate word to fill in the blank.

It will not a difference if you do not go to work today.

Options :
1. * do
2. ¥ make
3. # take
4. # be

Question Number : 140 Question Id : 7532296411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate word to fill in the blank.

If you promise to a secret, [ will tell you what I just heard.
Options :

1. # hold

2. * hide

3. % watch

4. ¥ keep

Question Number : 140 Question Id : 7532296411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate word to fill in the blank.

If you promise to a secret, [ will tell you what I just heard.



Options :
1. * hold
2. * hide
3. % watch
4. ¥ keep
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Question Number : 141 Question Id : 7532296412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate word to fill in the blank.

There was to the subway after the explosion.
Options :

1. % uncorrectable injury

2. # incurable destruction

3. % irreparable damage

4. # unchangeable harm

Question Number : 141 Question Id : 7532296412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate word to fill in the blank.

There was to the subway after the explosion.

Options :

1. # uncorrectable injury
2. % incurable destruction
3. % irreparable damage

4. # unchangeable harm

Question Number : 142 Question Id : 7532296413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

SUPPLE
Options :
1. # nimble

2. % quick



3. % alert
4. ¥ stiff

Question Number : 142 Question Id : 7532296413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

SUPPLE
Options :
1. # nimble
2. % quick
3. # alert
4, ¢ stiff

Question Number : 143 Question Id : 7532296414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

AVOID
Options :
1. ® leave
2. ¥ evade
3. % exit

4. % permit

Question Number : 143 Question Id : 7532296414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

AVOID



Options :
1. # leave
2. ¥ evade
3. % exit

4. ® permit

Question Number : 144 Question Id : 7532296415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate options to fill in the blanks.

Although the bill far my expectations, | to pay it.
Options :

1. ® acceded, exceeded

2. % exceed, accede

3. % accede exceed

4. ¥ exceeded, acceded

Question Number : 144 Question Id : 7532296415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate options to fill in the blanks.

Although the bill far my expectations, [ to pay it.
Options :

1. # acceded, exceeded

2. #® exceed, accede

3. % accede exceed

4. ¥ exceeded, acceded

Question Number : 145 Question Id : 7532296416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given idiom.

Sell like hot cakes

Options :

1. ¥ A lot of people buy all the goods quickly
2. # People are afraid to touch the products
3. % Many people like what they have bought

4. ® A lot of food items are put on sale

Question Number : 145 Question Id : 7532296416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Sell like hot cakes

Options :

1. ¥ A lot of people buy all the goods quickly
2. # People are afraid to touch the products

3. # Many people like what they have bought

4. % A lot of food items are put on sale

Question Number : 146 Question Id : 7532296417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

By the skin of your teeth

Options :

1. ® To catch something hard

2. % To force someone to pull something

3. ¥ To just barely manage to achieve something

4. ® To prevent anyone from touching something



Question Number : 146 Question Id : 7532296417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

By the skin of your teeth

Options :

1. # To catch something hard

2. % To force someone to pull something

3. % To just barely manage to achieve something

4. # To prevent anyone from touching something

Question Number : 147 Question Id : 7532296418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the proverb that fits most appropriately to the given context.

Rakesh is lucky his boss asked him to accompany him on his business trip; he must
Options :

1. # not judge the book by its cover

2. ¥ strike while the iron is hot

3. % reap what he sows

4. # not cry over spilt milk

Question Number : 147 Question Id : 7532296418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the proverb that fits most appropriately to the given context.

Rakesh is lucky his boss asked him to accompany him on his business trip; he must
Options :

1. * not judge the book by its cover

2. ¥ strike while the iron is hot



3. % reap what he sows

4. # not cry over spilt milk

Question Number : 148 Question Id : 7532296419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the word that is wrongly spelt in the sentence.

The director pointed out that the plot of the film has multipal layers.

Options :

1. # director
2. % pointed
3. ¥ multipal
4. % layers

Question Number : 148 Question Id : 7532296419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the word that is wrongly spelt in the sentence.

The director pointed out that the plot of the film has multipal layers.

Options :

1. # director
2. # pointed
3. ¥ multipal
4. ® layers

Question Number : 149 Question Id : 7532296420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the word that is wrongly spelt in the sentence.

Sheba found that nearly ninety percent of vehicles on the road use high beem lights.




Options :

1. # ninety
2. % nearly
3. ¥ beem

4. % vehicles

Question Number : 149 Question Id : 7532296420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the word that is wrongly spelt in the sentence.

Sheba found that nearly ninety percent of vehicles on the road use high beem lights.

Options :

1. # ninety
2. # nearly
3. ¥ beem

4. % vyehicles

Question Number : 150 Question Id : 7532296421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the word that is wrongly spelt in the sentence.

The astrologer told her that material gains, addition to wealth, and uncontrolled expenditure are predected in the following week.

Options :

1. # astrologer
2. % uncontrolled
3. % expenditure
4. ¥ predected

Question Number : 150 Question Id : 7532296421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Find the word that is wrongly spelt in the sentence.

The astrologer told her that material gains, addition to wealth, and uncontrolled expenditure are predected in the following week.
Options :

1. # astrologer
2. % uncontrolled
3. # expenditure
4. ¥ predected

Question Number : 151 Question Id : 7532296422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence that is grammatically correct.

Options :

1. ¥ Leena came across some old photographs when she was cleaning her desk.
2. #® In the morning Vishal usually his daughter drops off to school at 9.

3. ¥ How to upload a photo on your mobile phone, you know?

4. ® That Hema is the best eye specialist in town they believe.

Question Number : 151 Question Id : 7532296422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the sentence that is grammatically correct.

Options :

1. ¥ Leena came across some old photographs when she was cleaning her desk.
2. % In the morning Vishal usually his daughter drops off to school at 9.

3. % How to upload a photo on your mobile phone, you know?

4. ® That Hema is the best eye specialist in town they believe.

Question Number : 152 Question Id : 7532296423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the option in which the parts of the sentence are in a meaningful order.
Options :

1. # Kamal an independent candidate as decided for the elections to contest.
2. # An independent candidate Kamal contest as decided to for the elections.
3. ¥ Kamal decided to contest for the elections as an independent candidate.

4. ® For the elections Kamal contest as an independent candidate decided to.

Question Number : 152 Question Id : 7532296423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option in which the parts of the sentence are in a meaningful order.
Options :

1. # Kamal an independent candidate as decided for the elections to contest.
2. # An independent candidate Kamal contest as decided to for the elections.
3. % Kamal decided to contest for the elections as an independent candidate.

4. % For the elections Kamal contest as an independent candidate decided to.

Question Number : 153 Question Id : 7532296424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word according to the context.

The heavy rain following the cyclone severe flooding in the low-lying areas.
Options :

1. ® composed

2. ¥ caused

3. ® prepared

4. ® formed

Question Number : 153 Question Id : 7532296424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Fill in the blank with the most appropriate word according to the context.

The heavy rain following the cyclone severe flooding in the low-lying areas.
Options :

1. # composed

2. % caused

3. % prepared

4. % formed

Question Number : 154 Question Id : 7532296425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word according to the context.

is advised in the use of aluminum foil in the kitchen.
Options :
1. ¥ Caution
2. % Alert
3. ¥ Warning
4. % Attention

Question Number : 154 Question Id : 7532296425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word according to the context.

is advised in the use of aluminum foil in the kitchen.
Options :
1. ¥ Caution
2. % Alert
3. ¥ Warning
4. % Attention



Question Number : 155 Question Id : 7532296426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word according to the context.

Finance experts generally advise their clients to their portfolio to ensure that a balanced portfolio can be
Options :

1. # differ, conserved

2. # defer, supported

3. # discriminate, upheld

4. ¥ diversify, maintained

Question Number : 155 Question Id : 7532296426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate word according to the context.

Finance experts generally advise their clients to their portfolio to ensure that a balanced portfolio can be

Options :

1. # differ, conserved

2. # defer, supported

3. % discriminate, upheld

4. ¥ diversify, maintained
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Question Id : 7532296427 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the following passage and answer the questions given after it.

Experts say if you want to harness sleep’s problem-solving powers to the fullest, think about your dilemma just before bed.
Thomas Edison appreciated a good midday snooze, and the great inventor’s quirky napping routine has become legend. By most accounts,



Edison liked to settle into a comfortable chair with a ball bearing in each hand, and metal pie pans at his feet. After dozing for a while, Edison’s
hands would relax and the ball bearings would clatter into the pans, waking him up.

All this was not without purpose. Upon waking, Edison would immediately write down whatever thoughts came to him. His belief was that many
of his most inspired ideas came to him in the dozy, dreamy moments that precede deep sleep, and his napping program was designed to harness
more of this creative energy. A new study in the journal Psychological Science suggests Edison was onto something.

For the study, researchers at Northwestern University presented people with a series of carefully designed, sneakily tricky puzzles. The
participants had two minutes to try to solve each puzzle. During those two minutes, a unique sound clip would play on a loop in the background.
(New puzzle, new sound clip.)

After this first stage of the experiment, which always took place in the early evening, the people went home with some specialized equipment.
The equipment monitored their sleep and, as they slept, played back some of the same sound clips they’d heard while attempting to complete the
puzzles in the lab. The next morning, the people returned to the lab and got another crack at the puzzles they’d been unable to solve the night
before. Their solve-rate improved across the board, but they were especially adept at solving the puzzles that corresponded with sound clips
they’d heard while sleeping. They figured out the answers to 32% of the sleep-cued puzzles, compared to 21% of the un-cued puzzles.

“There was this idea that during sleep the brain is resting, but now we know there’s a lot of important work being done,” says Mark Beeman, a
professor of psychology at Northwestern. During sleep, the brain sorts, consolidates, and stores new information. It also “rehearses” recent
memories, he says. This rehearsal seems to help the brain identify meaningful patterns while discarding unhelpful “background noise” — all of
which could aid in problem-solving, he explains. Playing sound clips cued to certain puzzles appeared to facilitate this form of helpful rehearsal.
“This research adds to a growing literature suggesting that sleep can reorganize information to facilitate problem-solving,” says Kristin Sanders,
first author of the study and a doctoral student at Northwestern. “It also suggests that replay of the problem memory during sleep is critical for
this reorganization.”

Sub questions

Question Number : 156 Question Id : 7532296428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During the experiment how much time were the participants given to solve each puzzle?
Options :

1. #* Unlimited time

2. % Two minutes

3. # Thirty two minutes

4. # Twenty one minutes

Question Number : 157 Question Id : 7532296429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The main idea of this passage is
Options :



1. # All great inventions were discovered in the night after a good sleep.
2. ¥ Sleep is also a critical time for thinking and solving problems.
3. % People should sleep whenever they have difficult problems to solve.

4. ¥ Human memory improves when we wake up from sleep

Question Number : 158 Question Id : 7532296430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did Edison keep metal pie pans at his feet when dozing?
Options :

1. #® To relieve him of pain in the feet

2. # To satisfy his hunger on waking

3. ¥ To help him wake up from sleep

4. #® To make pies after waking up

Question Number : 159 Question Id : 7532296431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The word “rehearsal’ is used in the passage to mean
Options :

1. #® Performance

2. ® Practice

3. # Enactment

4. ¥ Review

Question Number : 160 Question Id : 7532296432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How did people solve problems during the rehearsal?
Options :

1. ¥ By making important connections with sounds
2. ¥ By memorizing the answers beforehand

3. ® Using cues given by the researcher



4. % With unfair means to discover the answers

Question Id : 7532296427 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
:No

Question Numbers : (156 to 160)

Read the following passage and answer the questions given after it.

Experts say if you want to harness sleep’s problem-solving powers to the fullest, think about your dilemma just before bed.

Thomas Edison appreciated a good midday snooze, and the great inventor’s quirky napping routine has become legend. By most accounts,
Edison liked to settle into a comfortable chair with a ball bearing in each hand, and metal pie pans at his feet. After dozing for a while, Edison’s
hands would relax and the ball bearings would clatter into the pans, waking him up.

All this was not without purpose. Upon waking, Edison would immediately write down whatever thoughts came to him. His belief was that many
of his most inspired ideas came to him in the dozy, dreamy moments that precede deep sleep, and his napping program was designed to harness
more of this creative energy. A new study in the journal Psychological Science suggests Edison was onto something.

For the study, researchers at Northwestern University presented people with a series of carefully designed, sneakily tricky puzzles. The
participants had two minutes to try to solve each puzzle. During those two minutes, a unique sound clip would play on a loop in the background.
(New puzzle, new sound clip.)

After this first stage of the experiment, which always took place in the early evening, the people went home with some specialized equipment.
The equipment monitored their sleep and, as they slept, played back some of the same sound clips they’d heard while attempting to complete the
puzzles in the lab. The next morning, the people returned to the lab and got another crack at the puzzles they’d been unable to solve the night
before. Their solve-rate improved across the board, but they were especially adept at solving the puzzles that corresponded with sound clips
they’d heard while sleeping. They figured out the answers to 32% of the sleep-cued puzzles, compared to 21% of the un-cued puzzles.

“There was this idea that during sleep the brain is resting, but now we know there’s a lot of important work being done,” says Mark Beeman, a
professor of psychology at Northwestern. During sleep, the brain sorts, consolidates, and stores new information. It also “rehearses” recent
memories, he says. This rehearsal seems to help the brain identify meaningful patterns while discarding unhelpful “background noise” — all of
which could aid in problem-solving, he explains. Playing sound clips cued to certain puzzles appeared to facilitate this form of helpful rehearsal.
“This research adds to a growing literature suggesting that sleep can reorganize information to facilitate problem-solving,” says Kristin Sanders,
first author of the study and a doctoral student at Northwestern. “It also suggests that replay of the problem memory during sleep is critical for
this reorganization.”

Sub questions

Question Number : 156 Question Id : 7532296428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
During the experiment how much time were the participants given to solve each puzzle?
Options :

1. # Unlimited time



2. ¥ Two minutes
3. % Thirty two minutes

4. ¥ Twenty one minutes

Question Number : 157 Question Id : 7532296429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The main idea of this passage is

Options :

1. # All great inventions were discovered in the night after a good sleep.
2. ¥ Sleep is also a critical time for thinking and solving problems.

3. % People should sleep whenever they have difficult problems to solve.

4. ¥ Human memory improves when we wake up from sleep

Question Number : 158 Question Id : 7532296430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did Edison keep metal pie pans at his feet when dozing?
Options :

1. #® To relieve him of pain in the feet

2. # To satisfy his hunger on waking

3. ¥ To help him wake up from sleep

4. # To make pies after waking up

Question Number : 159 Question Id : 7532296431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The word “rehearsal’ is used in the passage to mean
Options :

1. #® Performance

2. ® Practice

3. # Enactment

4. ¥ Review



Question Number : 160 Question Id : 7532296432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How did people solve problems during the rehearsal?
Options :

1. ¥ By making important connections with sounds
2. % By memorizing the answers beforehand

3. # Using cues given by the researcher

4. % With unfair means to discover the answers
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Question Number : 161 Question Id : 7532296433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR {59 UHR &1 THITE S 3g g2
Options :

1. % GUNH

2. ® fayTeiss

3. ¢ fRIyERI®

4. % URUMHERI®

Question Number : 161 Question Id : 7532296433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR {5 YR BT THEINYE o0 72
Options :

1. % g

Question Number : 162 Question Id : 7532296434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG P TR hanfaRivm &7 A TR -
Options :

1. = Hd



2.« GO
3. % i
4. % QHEY

Question Number : 162 Question Id : 7532296434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T P TR fpanaRvor &1 Je T8 © -
Options :

1. % Hd

2. HONID

3. % Qs

4. % R

Question Number : 163 Question Id : 7532296435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Q-ar Y USR &1 GBAEES [AT0 g2
Options :

1. ¥ U EIUD

2. % JHqIdIddh

3. % 3gfiarad

4. % pHAHD

Question Number : 163 Question Id : 7532296435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

-3’ g UPR PT TGS [0 g2
Options :

1. ¢ UAPEIUD
2. % GHCHAES




3. % 3Jghiarad

4. % pHAHAD

Question Number : 164 Question Id : 7532296436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I f5d UBR &) T 72

Options :

1. % oHfcdiarde

2. ¢ SIfdardd

3. % Y[dddd

4. % JHgdlddh

Question Number : 164 Question Id : 7532296436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arar {59 UHR & I3 87

Options :

1. * HfeRiarae

2. ¢ SlliddTdd

3. % Y[ddHde

4. % JHgdlddh

Question Number : 165 Question Id : 7532296437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRed & ¥ «sfHyaarasd Ta-d $1HF 91 62
Options :

1. % ®F

2. % [

3. ¥ Bls




4. % S

Question Number : 165 Question Id : 7532296437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafRed # § «sfRygaras Ta—mm &9 9182
Options :

1. % B

2. % |

3. Dl

4. % S

Question Number : 166 Question Id : 7532296438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PRI B {59 TR &1 o 7 3aTeru 87
Options :

1. % §gad febar

2. % gdepIfard fohar

3. % fgopda fopan

4. & SIS fobar

Question Number : 166 Question Id : 7532296438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FRI=T BT o UBHR 1 ol BT IS8R0 82
Options :

|. % Tgod fobar

2. % QAP bl

3. % fgopHib fobar

4. AHSYD foba




Question Number : 167 Question Id : 7532296439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IAGD” BT el Tf-fodg B-

Options :

1. ¥ 3 + D

2. % 3d + AP

3. % 3q+IH

4. % 39+ Alh

Question Number : 167 Question Id : 7532296439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR’ BT Tet TfY-fawde §-

Options :

1. ¢ 3q + A1H

2. % 3d + AP

3. % 3+ T-h

4, % 39+ Ah

Question Number : 168 Question Id : 7532296440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR B I Wi 32

Options :

1. % oo IfY

2. ¢ fawf dfy

3. % T[UT TR iy

4. % I TR IR



Question Number : 168 Question Id : 7532296440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TARY H B @ e g

Options :

1. % o iy

2. ¢ fawi dfy

3. % T[0T &R Y

4. % S TR AN

Question Number : 169 Question Id : 7532296441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faeraa &1 9 - faus 8-
Options :

1. % faen g smer

2. % fdgn W 3e™

3. % fqan ¥ amerg

4. a1 o T 3iTerg

Question Number : 169 Question Id : 7532296441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘faeTers &1 99N - faug ghm-
Options :

1. % faen 9 3oy

2. % I R 3merd

3. % faen ¥ anmerg

4. faen & foq aimerg

Question Number : 170 Question Id : 7532296442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

B T B I AN 82
Options :

. % gg

2. % g1

3. ¢ 3l HId

4. % qgY

Question Number : 170 Question Id : 7532296442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ORI T DI 1IN g7

Options :

1. % gg

2. % g1

3. ¢ 3ol HId

4. % TGN

Question Number : 171 Question Id : 7532296443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ool dl U, JTid Ht § T 3 @Ry | e 7 ok T8 S SUHT, < 99T IRy ufad § &I A1 3[AHR 62
Options :

1. & dICTgU

2. % qIJU™

3. % JHD

4. % T

Question Number : 171 Question Id : 7532296443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ebol ol Uepol, TFTiep it & TeTich 3 WY | et 1 ok 7 1 U, S8l age YRy dfed H 14 A7 3R 82
Options :

1. & dICTgU

2. % qIgU™

3. % JHD

4. % T

Question Number : 172 Question Id : 7532296444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l a3l & i ufque & for for 2ree; 1 Ui fhan ], 39 o1 gd g2
Options :

1. % IUHY

2. % 3UHMH

3. % YR 4

4. ¢ HeRYdiddh

Question Number : 172 Question Id : 7532296444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& gl & ur ufqure & fore oy wree &1 i fora 8, 39 a1 ed /2
Options :

1. % U0y

2. % 3UHMA

3. % YR g

4, ¢ HeRYdiddh

Question Number : 173 Question Id : 7532296445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ST BT Taiard! -To) 82
Options :

1. % &

2. ¥ T

3. % Wl

4. % qIaT

Question Number : 173 Question Id : 7532296445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SIS BT UATIaT 8l 82

Options :

1. % gW

2. ¥

3. ¥ el

4. % sl

Question Number : 174 Question Id : 7532296446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faga &1 fadd ghm-

Options :

1. # 3H™d

2. % fia

3. %Y

4, % JYR

Question Number : 174 Question Id : 7532296446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fama’ &1 faaa grm-



Options :
1. % 3Iid
2. % fAfd
3.9 %Y
4, % 3YR

Question Number : 175 Question Id : 7532296447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

.Y

2. % HHA

3. ¥ YR

4. % 9

Question Number : 175 Question Id : 7532296447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. v

2. % DpHdA

3. % YR

4. % 9

Question Number : 176 Question Id : 7532296448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RRT - R <o g1 &1 9 31 &-

Options :



1. % 94 - RR
2. % RR -t
3. ¢ ISl BR
4, % JR 10!

Question Number : 176 Question Id : 7532296448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RRT - RRT 2eg 77 1 T 3f B
Options :

1. % - RR

2. % RR-=H

3. ¢ ST -BR

4. ® R _ TSN

Question Number : 177 Question Id : 7532296449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ToR — ¥ 372 & T THYd e §-
Options :

1. % gle—die

2. % -3l

3. % I3 -8l

4. ¢ 315 -3l

Question Number : 177 Question Id : 7532296449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR — 5 373 & Ty THYd e B-
Options :

1. % 8Tl



2. % glc 3l
3. % dlc -3I8
4. ¢ 813 - 33

Question Number : 178 Question Id : 7532296450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Ugd 1 g1 31 & fory el Yoravy HIH Wi g?
Options :

1. % UoR USR Giell g1

2. ¥ U9 T HRAT

3. % (e & BR | Ul

4. % Ul pIcHl

Question Number : 178 Question Id : 7532296450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tga 4 gHr 3 & o T8 GeTaRT S 91 87
Options :

1. % GoR GoR <iefl T

2. ¢ U9 T HRAT

3. % e & B A S

4. % Ul dIcl

Question Number : 179 Question Id : 7532296451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FT 1R TS 31T B Aebiaa BT Tt aref B
Options :

1. ¢ GHY 3, BTH HH

2. % YAY HH, B D



3. % ST gAY 99T HTH
4. % PIg B I8!

Question Number : 179 Question Id : 7532296451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FT R T 31gTE PR Aepifa BT et 31 B-
Options :

1. ¢ GHY 3{feh, HTH HH

2. % JUY HH, B D

3. % SN gAY 99 S

4. % ®Ig HY Ag!

Question Number : 180 Question Id : 7532296452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR DY WP BT TAGIND JH o] ¢ > IR & vt S H a1t 3RYfS 82
Options :

1. % A BI

2. % UIpd Bl

3. ¥ AdgIRD A

4. % TG

Question Number : 180 Question Id : 7532296452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YUY B! AP d DT ATSTRD I el & " I & fordy S & a1 RIS 82
Options :

1. % A BI

2. % H¥pd Bl

3. ¢ IGIRD JH




4. % TR B

General Hindi2
Group Number : 10
Group Id : 753229334
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General Hindi2
Section Id : 753229334
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229402
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 7532296453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS O WY P fo1T S5 SMaad ¢ 1” a1 & [ SfRT H a1 Srfs &7



Options :

1. % WS ofd
2. ¥ WY D

3. % fou9gd
4. % 3HIWH B

Question Number : 181 Question Id : 7532296453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TGS O] WY b oY 9§ SHTa=ash ¢ |1° 91 & oy ofer & a1 orgfs 82
Options :

1. % =S o]

2. W&

3. % fu§gd

4. % IIRTD 5|

Question Number : 182 Question Id : 7532296454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFofifed o 9 319 91 Weg T8H 52
Options :

1. % dig

2. % fafean

3. % il
4. e

Question Number : 182 Question Id : 7532296454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad § ¥ o9 97 g T@H 82

Options :




1. % g
2. % fyfEan

3. % il
4. e

Question Number : 183 Question Id : 7532296455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafefad & § o1 91 Wee dgd 82
Options :

1. ¢ fas1ap1

2. % f8R

3. % ¥F

4, % qUg

Question Number : 183 Question Id : 7532296455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 3 o 91 e ded 87
Options :

1. ¢ farept

2. % fagR

3. % WA

4. % qUs

Question Number : 184 Question Id : 7532296456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG, IV 511> IR BT BT @ -
Options :

1. % gAY Hidw



2. ¢ YT Hidsg

3. % TdeqHe Hiaw™
4. % Ty gdam

Question Number : 184 Question Id : 7532296456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HYd g, I 1> IR BT DT 5 -
Options :

1. % JHAY Hidsg

2. ¢ GHTH Hid™

3. % gdogde Hfaw

4. % T IdHH

Question Number : 185 Question Id : 7532296457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S{THT Y X1 2 1> ITeRT T BT 6-
Options :

1. % HMH Hd

2. % A Hd

3. % gui yd

4.« 3l yd

Question Number : 185 Question Id : 7532296457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“S{THT Y X1 2 |” TR T BT &-
Options :

1. = gH Hd

2. % AN HYd



Question Number : 186 Question Id : 7532296458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“STfHT ATTT BT 1* TR BT BT -
Options :

1. ® JH Yd

2. % GHH qdqH

3. ¢ HHIH aaHH

4. % i IdHH

Question Number : 186 Question Id : 7532296458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
“STPaT 3T 81 I” IR T BT B-
Options :

1. ® g Hd

2. % HH I

3. ¢ YT qAHH

4. % FfeT IaHH

Question Number : 187 Question Id : 7532296459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoied o 9 & a1 agd iy ae 82

Options :

1. ¢ S RGP ABIUT BT 8, ITbT I T Hd 8
2. % AHY e BT g+ I w4 B

3. % AHT REd g R I SIS G 4 B




4, % OGP AIDIUY BIAT 5, TATTT JH IHHT FHH Hd & |

Question Number : 187 Question Id : 7532296459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad & T &F 91 9 Ay 9 89

Options :

1. ¢ Sl G AIB Y BT 5, I9bT I THH A B |

2. % BT RGP BT FHt T Hd B

3. % AHUY AWD g W IH IHBT T Hd & |

4. % AGH AIB T BIdT 8, ST I+ IHBT I Hd § |

Question Number : 188 Question Id : 7532296460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad & @ ®F 91 ared Ygad arad g2
Options :

1. % gg faered S UeHl dl'édl%l

2. % gg {3y o & % 95 g I |

3. % 98 Ug & fore faarmera Srar 8|

4. 9 UG- 918 § U I8 faeTerd Sl 8|

Question Number : 188 Question Id : 7532296460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & § &9 91 ared Ygad arad g2

Options :

1. % g8 fquTey Sre g argd g |

2. % gg faerey oran g f 98 ug 9o |

3. % 98 UgH & fore faarmera Srar 8|

4. ¥ 98 Y- 918l § ST 98 fIererd Srdi g |




Question Number : 189 Question Id : 7532296461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 &1 91 areg IR arad 82

Options :

1. % I firdr fAuTE iR s &1 qgedeTad wiial|

2. % I B g1 gt FUTS dfe S9! Tadad H @ia|
3. ¥ I 30 T & a1y Wiial|

4. % I 39 RABTAY P TG ol 3D {3 &7 1|

Question Number : 189 Question Id : 7532296461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed & § o 91 9/ IRd 919 82

Options :

1. % I fiyzrar s iR i &1 qeasrerd wlie|

2. % I BT g1 T8t TS afcsh S9! gadrad Hf @’iar|
3. ¢ 39 U i &1 by TRIa|

4. % I Y GBI Bl WRIGT S YD 0 BT T |

Question Number : 190 Question Id : 7532296462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

$¢ T 1 ur: foed TR fog &1 v giat g2
Options :

1. % Fdee g

2. ¥ UioTsh g

3. % founeaiyes g

4. % IS g



Question Number : 190 Question Id : 7532296462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

$5 9UN 1 Urg: forg o forg &1 9T Bt &2
Options :

1. % fdgs g

2. ¥ UioTsh g

3. % foumnfeaius g

4. % IGRU @

Question Number : 191 Question Id : 7532296463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e ¥ fhgent BT A= 8l 82
Options :

1. % 3{TehT&T

2. % Gl

3. ¢ el

4. % hYH

Question Number : 191 Question Id : 7532296463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1e ¥ fhdenT g SR a8l 62
Options :

1. % 3{TehI&m

2. % gy

3. ¢ il

4, % byH

Question Number : 192 Question Id : 7532296464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3y B R A I 1 a1 TEl 32
Options :

1. % gO UliaifTar Sid

2. ¢ BH Ui Siidt|

3. % g Ui Sid |

4. % gHA YfaaiRIar siad |

Question Number : 192 Question Id : 7532296464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
399 P 2D Y I 1 I L B2
Options :

1. % gH UfcRTaT Sidr|

2. ¢ §HA UAIRTaT St |

3. % g Yl Sitd |

4. % GHA Ui Sfidd |

Question Number : 193 Question Id : 7532296465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 30 i & il Siia- & SThie BT g | a1 & JWiTohd 32T & [aRITI & o Sugad e g -
Options :

1. % eyl

2. % qun

3. % 9l

4. ¥ HIHAT

Question Number : 193 Question Id : 7532296465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T 30 i & il Siia & SThie BT g | a1 & J@iTohd 32T & [aRITI & o Sugad X g -
Options :

1. % eyl

2. % qun

3. % 9l

4. ¥ HIHAT

Question Number : 194 Question Id : 7532296466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & Td g | a1 & o I & e Iugad X ghm-
Options :

1. ¢ HR

2. % ¥4

3. % TaRT

4. % GHR

Question Number : 194 Question Id : 7532296466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T &1 il 8 | Te o Rad R & i SUge Xeg 811-
Options :

1. ¢ HPR

2. %7

3. % AR

4. % JDR

Question Number : 195 Question Id : 7532296467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



I B A efiex B | 1o & fead - & forg Suged vt &-
Options :

1. % g

2. % &HAI

3. % 919

4. % TGRS

Question Number : 195 Question Id : 7532296467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRS QiR gl ared & Rad ®IF & iy Suge Tes &-

Options :

1. % g

2. §HAT

3. % 4914

4. % TEE

Sub-Section Number : 2
Sub-Section Id : 753229403
Question Shuffling Allowed : Yes

Question Id : 7532296468 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (196 to 200)

T TS B Yoy 9 e Wt a1 fRufd g ofta g 8 98 71, 39 Uait IGTeR01 34 U St AT el B fid da | Tdd
FHUINDT G0H a1 IR e 41 H férd giapx Ul o T8 7t St ot 3R AR At o qmef g1 IR aIuRy 31| B ufd) 1 Srfmfee it
| O T o1 T Ul &1 SIfIBRY BiaT T, TR &9 $! fIdT8 & ek IR T 8 aTd Aige & SAfARad 3R $© & & aaddl
g Tl Tuh e | o FHRG1SH 7 T8 - 4 WeR g1 [hal 38 quRa-! & THH g H siia- did B B Waadl o, R 39 fUfd
o RS & GHF UHGHNT 3T & g1 gl AT

ISR T & 3MYR R Fafeiad usi & I il

Sub questions




Question Number : 196 Question Id : 7532296469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T § f5g BT T TAI-G = BT aui g2
Options :

1. ¢ U BT

2. % HY P

3. % YD Bld

4. % FHBTAM

Question Number : 197 Question Id : 7532296470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & AR U &1 Ui HT STRIVBRI B BT UT?
Options :

1. % HIdl

2.¥H

3. % A

4. % TH BT

Question Number : 198 Question Id : 7532296471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR o il ¥ AR fh e a1 &1 fomon g2
Options :

1. ¢ THTSID

2. % SHIdD

3. % i

4. % e

Question Number : 199 Question Id : 7532296472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

IR & SFIAR &1 B! [ddTg & SaUR R 1 e SiTdT ur
Options :

1. % $© 5l

2. % Jrguf Fufx

3. % g H fge

4. ¢ 3UgR

Question Number : 200 Question Id : 7532296473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gty &1 A g g -

Options :

1. % YUIROg

2. % ITERUMY

3. ¢ gAY

4. % YRIGAHIY

Question Id : 7532296468 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (196 to 200)

U TS B Yoy 9 e Tt a1 Rufa wgofta gt 8 98 71, 39 vl ITeRur 3 T St AT el 1 fid il | Ul
HHINRDT G0 g IR e 41 & Hferd g1 ufd & T8 Iait ol & SfR AR T o T 817 IR aFuy 3i1em & Ul 1 Srgrmiie &=t
| g1 O ot ged YUy &7 SifBRY BlaT UT, TR &1 B! fadTe & S(a¥R R U 81 ardl aiqe & SifaRad SiR $3 31 o1 sraaddr
Bl 7ot Tash T3 | o SHIRD13M = T8 - 4 WIHR To! [bdl 35 qURI-! o THM g | Sitad Adid B3 Bt WaAdm T, iRg 39 fufa
T e o THM UNTHNT 39D & el gl Tl

IR T & 3MYR R Faferiad gsi & I gl

Sub questions

Question Number : 196 Question Id : 7532296469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TR for Tet Bt Tl 1 quf 52
Options :

1. ¢ U &1

Question Number : 197 Question Id : 7532296470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & SR Ul &1 WU BT SIRITBRY DI giT U2
Options :

1. # HIdl

2.9 UF

3. % Ol

4. % TH 1A

Question Number : 198 Question Id : 7532296471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR o il § IR s sgawit &1 fomon g2
Options :

1.  HTHTSIS

2. % SHIfdD

3. % Y

4. % e

Question Number : 199 Question Id : 7532296472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR & TR &1 B! [da18 & HTER W T T ST U1

Options :



1. % $© 5l

2. % ol ot
3. % Yof o fgwa
4. ¥ IUER

Question Number : 200 Question Id : 7532296473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ggufta &1 3 i | -

Options :

1. % YUIRYG

2. % JTERUMY

3. ¢ gAY

4. % YRIGHY



